ABB drives

Supplement

Flange mounting kit installation

M

<

Power and productivity “ I! I.
MAPpD

for a better world™



List of related manuals

Drive hardware manuals and guides Code (English)

Note

Flange mounting kit installation supplement 3AXD50000019100

Flange mounting kit quick installation guide for ACX580-01 frames 3AXD50000036610
RO to R5

Flange mounting kit quick installation guide for ACX580-01 frames 3AXD50000119172
R1to R3

Flange mounting kit quick installation guide for ACS880-01 frames 3AXD50000026158
R1to R3

Flange mounting kit quick installation guide for ACS880-01 frames 3AXD50000026159
R4 to R5

Flange mounting kit quick installation guide for ACS880-01 and 3AXD50000019099
ACX580-01 frames R6 to R9

ACS880-01 hardware manual 3AUA0000078093
ACS880-01 quick installation guide for frames R1 to R3 3AUA0000085966
ACS880-01 quick installation guide for frames R4 and R5 3AUA0000099663
ACS880-01 quick installation guide for frames R6 to R9 3AUA0000099689
ACS580-01 hardware manual 3AXD50000018826
ACS580-01 quick installation and start-up guide for frames R6 to R9 3AXD50000009286
ACH580-01 (0.75 to 250 kW) hardware manual 3AUA0000076331
ACHS580-01 quick installation and start-up guide 3AUA0000076330
ACQ580-01 (0.75 to 250 kW) hardware manual 3AXD50000035866

ACQ580-01 quick installation and start-up guide for frames RO to R5 3AXD50000035755
ACQ580-01 quick installation and start-up guide for frames R6 to R9 3AXD50000037301

(type codes
ACX580-01-02A6-
4, ACX580-01-
03A3-4, etc.)

(type codes
ACX580-01-02A7-
4, ACX580-01-
03A4-4, etc.)

You can find manuals and other product documents in PDF format on the Internet. See section Document
library on the Internet on the inside of the back cover. For manuals not available in the Document library,

contact your local ABB representative.
The codes below open on-line listings of the manuals applicable to the product.

ACS880-01
manuals

ACS580-01
manuals

ACS880-11
manuals

1 E ACH580-31
v < manuals

ACQ580-31
> manuals


http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000019100&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000036610&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK105408A7004&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000026158&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000026159&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000019099&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000078093&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000085966&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK105713A8085&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000099663&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000099689&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000018826&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK105713A8085&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK105713A8085&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK10103A0587&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000009286&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000076331&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AUA0000076330&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000035866&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000035755&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000037301&LanguageCode=en&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106930A9565&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106930A9564&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106713A2709&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106930A9561&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=9AKK106930A9562&DocumentPartId=1&Action=LaunchDirect
http://search.abb.com/library/ABBLibrary.asp?DocumentID=3AXD50000119172&LanguageCode=en&AocumentPartId=1&Action=LaunchDirect

Supplement

Flange mounting kit installation

Table of contents

[
L i}

3. Mechanical installation
for ACS880-01

4. Mechanical installation
for ACS580-01,
ACH580-01 and
ACQ580-01

5. Mechanical installation
for ACS880-11 and
ACS880-31

6. Mechanical installation
for ACH580-31 and
ACQ580-31

> N NZ N

© 2018 ABB Oy. All Rights Reserved. 3AXD50000019100 Rev E
EN
EFFECTIVE: 2018-02-02






Table of contents 5

Table of contents

Listofrelated manuals ... ....... .. . 2

1. Introduction to the supplement

Contents of this chapter . .. ... ... 11
Applicability . .. ... 11
Safety INStructions . . .. ... e 11
Target audiencCe . . .. ..t 11
Purpose of the supplement .. ... ... . . . . 12
Contentsof themanual . .. ... ... .. 12
Related documents . .. ... .. .. . 12

2. Hardware description

Contents of this chapter . .. ... ... 13
Product overview . .. ... .. e 13
Layout and mounting position . ... ... ... 13
Example: tilted position . . ... .. . . 14
Example: upright position . .. ... ... . 15
Degree of protection .. ... ... . e 15
ACS880-01, ACS580-01, ACSH580-01 and ACQ580-01 . .................... 15
ACS880-11, ACS880-31, ACH580-31 and ACX580-31 . ...........coive .. 15
Special requIremMeNnts . .. .. .. 16
Ordering COAeS . . ..ottt e e e 17

3. Mechanical installation for ACS880-01

Contents of this chapter . .. ... .. . 19
Safely . 19
Examining the installation site .. ... ... .. . . 20
Additional requirements for cabinet installations .. ........... ... ... ... .. ... ... . ..., 20
NeCessary t00lS . . .. ... e 20
Moving the drive . .. ... . e 20
Unpacking and examining the delivery ... ... ... . .. . . . . 21
Transport package contents .. ... .. 21
Frames R1tO RS ... . 22
Frames REtO RO ... .. . . 23

Flange mounting kit package contents .. ....... ... .. .. . ... . i 24
Frames R1t0O RS . ... 24
Frames RAt0 RS . ... . 25
Frames REtO RO . ... . . 26
Mounting template . . . ... .. 27
Installing the drive . ... ... 28
Free space requirements . ... ... ... ... . 28
Installing drives above one another .. ......... ... ... .. 29
Installation procedure . ... ... .. . . 30

Frames R1t0O RS .. ... 30




6 Table of contents

Frames R4 10 RS .. .. . 39
Frames R6 10 RO .. .. . 47

4. Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Contents of thischapter .. ....... ... . . . . 53
Saf Oty . . 53
Examining the installation site .. ... ... . . . . 54
Additional requirements for cabinet installations ............ ... ... ... ... .. ... ... 54
NeCessary toOIS . . .. ... e 54
Moving the drive . . .. ... 54
Unpacking and examining the delivery .. .. ... ... .. . . . . 55
Transport package contents . .. .. .. ... e 55
Frames ROtO R4 . .. ... 55
Frames RS .. ... 55
Frames RBtO RO . ... .. 56

Flange mounting kit package contents . .. .. ... ... ... . 57
Frames ROtO R4 . .. ... 57

Frame RS . .. .. 58
Frames RBtO RO . .. ... e 59
Mounting template . . ... ... .. 59
Installing the drive .. .. ... . 60
Free space requirements . .. ... . i 60
Installing drives above one another . ...... ... ... .. ... .. . .. i 61
Installation procedure . . ... .. 62
Frames ROtO RS .. .. . 62
Frames R6 t0 RO .. .. ... . 72

5. Mechanical installation for ACS880-11 and ACS880-31

Contents of thischapter .. ....... ... . . . 77
Saf Y . . 77
Examining the installation site .. ......... . . . . 78
Additional requirements for cabinet installations ............ ... ... ... ... .. ... ..., 78
NeCessary to0IS . . .. ... 78
Moving the drive . . .. ... 78
Unpacking and examining the delivery .. .. ... ... .. . . . . 79
Transport package contents . .. .. .. ... e 79
Frame R3 .. .. 80
Frames R6 and R8 .. .. ... ... . 81

Flange mounting kit package contents . .. .. ... ... ... . 82
Frame R . .. .. 82
Frames R6 and R8 .. .. ... ... . 83
Mounting template .. . ... ... . 83
Installing the drive .. .. ... . 84
Free space requirements . .. ... ... .. i 84
Installing drives above one another . ....... ... ... .. ... . . . .. 85
Installation procedure . . ... .. 86
Frame R ... 86

Frames R6 and R8 . .. .. ... .. . 92




Table of contents 7

6. Mechanical installation for ACH580-31 and ACQ580-31

Contents of this chapter . .. ... .. .. 101
Safely . 102
Examining the installation site .. .. .. ... .. 102
Additional requirements for cabinet installations .................................. 102
NecCessary t00lS . . .. ..o e 103
Moving the drive . .. ... .. e 103
Unpacking and examining the delivery . ..... ... ... . . . . . . 103
Transport package contents .. ... ... ... .. 103
Frame R3 ... .. 104
Frames R6and R8 .. ... ... .. . 105
Flange mounting kit package contents ........... ... .. .. . . . . i 106
Frame R .. .. .
Frames R6and R8 ... ... ... . .
Example mountingtemplate .. ...... ... . ... .
Installing the drive . . ... ... .
Free space requirements . ... ...... ... .. ..
Installing drives above one another
Installation procedure . . ....... . .
Frame RO ...
Frames R6and R8 . .. .. ... ... .

7. Dimension drawings for ACS880-01

Contents of this chapter . .. ... ... .. 125
Frame R ... 126
Attaching points and hole dimensions . .. ... ... . 127
Frame R . .. . . 128
Attaching points and hole dimensions . .. ... ... . .. . . . 129
Frame R3 . .. . . 130
Attaching points and hole dimensions . .. ... ... . .. . . . 131
Frame R4 . .. . 132
Attaching points and hole dimensions . .. ... ... . . . 134
Frame Rb5 . .. . 135
Attaching points and hole dimensions . .. ... ... .. . 137
Frame R6 . .. .. .. 138
Attaching points and hole dimensions . .. ... ... . . . 140
Frame R7 . .. . . 141
Attaching points and hole dimensions . .. ... ... .. . 143
Frame R8 . .. .. 144
Attaching points and hole dimensions . .. .. ... ... .. 146
Frame RO . .. .. 147
Attaching points and hole dimensions . .. .. ... ... . 149

8. Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Contents of this chapter . .. ... ... . 151
Frame RO . ... e 152
Frame R ... e e 154

Attaching points and hole dimensions . .. .. ... ... . . 156




8 Table of contents

Frame R2 .. ...
Attaching points and hole dimensions ... ........ ... .. .. . .. . . . i
Frame R3 .. ..
Attaching points and hole dimensions ... ........... . ... . .. . . . i
Frame R ...
Attaching points and hole dimensions ... ......... ... ... . .. . . . i
Frame R2 .. ...
Attaching points and hole dimensions ... ......... ... ... . .. . . i
Frame R3 . ...
Attaching points and hole dimensions . ............ .. ... . .. . . . i
Frame R4 . ...
Frame RG .. ..
Frames R4... RS .. . . . .
Attaching points and hole dimensions ... ......... ... ... . .. . . . i
Frame R6 . .. ...
Attaching points and hole dimensions . ........... ... ... . .
Frame R7 .. ..
Attaching points and hole dimensions ... ......... ... ... . .. . . . i
Frame R8 . ... .
Attaching points and hole dimensions . ........... ... ... . .. . . . i
Frame RO . ...
Attaching points and hole dimensions ... ......... ... ... . .. . . i

9. Dimension drawings for ACS880-11 and ACS880-31

Contents of thischapter .. ....... .. .. . . . . .
Frame R3 . ...
Attaching points and hole dimensions . ........... ... ... . .. . . i
Frame R6 . .. ...
Attaching points and hole dimensions ... ......... ... ... . .. . . . i
Frame R8 . ... . .
Attaching points and hole dimensions ... ......... ... ... . .. . . . i

10. Dimension drawings for ACH580-31 and ACQ580-31

Contents of thischapter .. ....... .. .. . . . . .
Frame R3 . ...
Attaching points and hole dimensions ... ........... .. .. . .. . . . i
Frame R6 . .. ...
Attaching points and hole dimensions . ........... ... ... . .. . . . i
Frame R8 . ... . .
Attaching points and hole dimensions ... ....... ... . ... . .. . . . i

11. ACS880-01 mounting examples

Contents of thischapter .. ....... .. .. . . . . . e
Frame R ...
Frame R2 . .. .
Frame RO . .. .
Frame R4 . .. ..
Frame RS ... .




Table of contents 9

Frame R6 . . ... 225
Frame R7 . ... 228
Frame R8 . .. .. 231
Frame RO . ... 234
Further information

Product and service inqQUINies .. ... .. 237
Producttraining . . .. ... ... e 237
Providing feedback on ABB Drives manuals . ........... ... ... 237

Documentlibrary onthe Internet .. ... .. ... . 237




10 Table of contents




Introduction to the supplement

Introduction to the
supplement

11

Contents of this chapter

This chapter describes the supplement.

Applicability

This supplement applies to the following flange mounting kits:

ACS880-01 drive (frames R1 to R9)

ACS880-11 and ACS880-31 drives (frames R3, R6, and R8)
ACS580-01, ACH580-01 and ACQ580-01 drives (frames RO to R9)
ACH580-31 and ACQ580-31 drives (frames R3, R6 and R8).

Safety instructions

Obey the general safety instructions in the hardware manual and the task-specific

instructions in this supplement.

Target audience

This supplement is intended for people who plan the installation and install the drive
with the flange mounting kit. Read the supplement before you work on the drive. You

are expected to know the fundamentals of electricity, wiring, electrical components

and electrical schematic symbols.

The supplement is written for readers worldwide. Both Sl and imperial units are
shown.




12 Introduction to the supplement

Purpose of the supplement

This supplement tells you how to install the drive mechanically onto an opening in a
mounting plate with the flange mounting kit.

Contents of the manual

The chapters of the supplement are briefly described below.
Introduction to the supplement introduces the supplement.
Hardware description describes the flange mounting kit.

Mechanical installation for ACS880-01, Mechanical installation for ACS580-01,
ACHS580-01 and ACQ580-01, Mechanical installation for ACS880-11 and ACS880-31
and Mechanical installation for ACH580-31 and ACQ580-31 describe how to install
the drive with the flange mounting kit mechanically.

Dimension drawings for ACS880-01, Dimension drawings for ACS580-01, ACH580-
01 and ACQ580-01, Dimension drawings for ACS880-11 and ACS880-31 and
Dimension drawings for ACH580-31 and ACQ580-31 contain dimension drawings of
the flange mounting kit.

ACS880-01 mounting examples contains example drawings for the different frame
sizes.

Related documents

See List of related manuals on the inside of the front cover.




Hardware description 13

Hardware description

Contents of this chapter

This chapter describes the flange mounting kit.

Product overview

The flange mounting kit contains brackets for attaching the drive onto a mounting
plate so that the heat sink of the drive is in the cooling air channel and the front part
on the other side of the mounting plate. Cable boxes are not compatible with flange
mounting kits.

Layout and mounting position

The flange-mounted drive is installed in a tilted (ACS880-01 frames R1 to R5 and
ACS880-11, ACS880-31, ACH580-31 and ACQ580-31 frame R3) or an upright
position.




14 Hardware description

Example: tilted position

[ 18]
©

Mounting plate

Top flange bracket
Lifting hole

Side flange bracket
Cable shelf

Bottom flange bracket

N o o b~ W N =

Drive heat sink in the cooling air channel




Hardware description 15

Example: upright position

— 1 Hood (in the cooling air
- channel; required for UL
type 12)

Top flange bracket
Mounting plate
Lifting hole

a b W N

Drive heat sink in the cooling
air channel

Side flange bracket

~N O

Drive front side
® 8  Bottom flange bracket

-]

"
%!

®)

Degree of protection

ACS880-01, ACS580-01, ACSH580-01 and ACQ580-01

The degree of protection of a flange-mounted IP21 drive is IP20 on the front side and
IP55 on the backside. The degree of protection of a flange-mounted IP55 drive is
IP55 on both the front side and the backside.

ACS880-11, ACS880-31, ACH580-31 and ACX580-31

The degree of protection of a flange-mounted IP20 drive is IP20 on the front side and
IP55 on the backside. The degree of protection of a flange-mounted 1P21 drive is
IP21 on the front side and IP55 on the backside. The degree of protection of a flange-
mounted IP55 drive is IP55 on both the front side and the backside.




16 Hardware description

Special requirements

With some frame sizes, you must insert a sealing plug into the drive. Also with some
degrees of protection, you must not leave the drive cover in place. See the tables for
more information.

Frame size ACS580-01 1P21 ACS580-01 IP55
ACH580-01 IP21 ACH580-01 IP55
ACQ580-01 IP21 ACQ580-01 IP55

RO Delivered with cover.

R1 Insert sealing plug.

R2 Delivered with cover.

Remove cover or order internal fan
(sold separately).
R4 Exception: In dry environment, you
can leave the cover in place without
inserting a sealing plug.

Insert sealing plug.
You can leave the cover in place.

R3

R5 Delivered with cover. You can leave the cover in place.

R6

R7 Delivered with cover. You can leave
RS the cover in place.

R9

Frame size ACS880-01 1P20, IP21, IP55

R1
R2 Insert sealing plug.
R3

R4
R5

Insert sealing plug and attach sealing tapes.

R6
R7
R8
R9

Frame size ACS880-11, ACS880-31, ACH580-31, ACQ580-31
(IP21, IP55)

R3 -

R6 Attach gasket.
R8




Ordering codes

Hardware description 17

The flange mounting kit is a plus code option (+C135) or can be ordered with these
ordering codes also separately.

This table applies to ACS580-01 RO frame types -02A6-4, -03A3-4, -04A0-4 and
-05A6-4 and ACS580-01 R1 frame types -07A2-4, -09A4-4 and -12A6-4.

Frame size Ordering code ACS580-01, Ordering code ACS880-01
ACH580-01, ACQ580-01
RO 3AXD50000031455 (IP21 and IP55)
R1 3AXD50000031456 (IP21 and IP55) | 3AXD50000024175 (IP20 and 1P21)
R2 3AXD50000031457 (IP21 and IP55) | 3AXD50000024176 (IP20 and 1P21)
R3 3AXD50000031458 (IP21 and IP55) | 3AXD50000024177 (IP20 and I1P21)
R4 3AXD50000031460 (IP21 and IP55) | 3AXD50000027190 (IP20 and 1P21)
R5 3AXD50000031461 (IP21 and IP55) | 3AXD50000018602 (IP20 and I1P21)
R6 3AXD50000018852 (IP21) 3AXD50000018852 (IP20 and I1P21)
R7 3AXD50000018853 (IP21) 3AXD50000018853 (IP20 and I1P21)
R8 3AXD50000018854 (IP21) 3AXD50000018854 (IP20 and 1P21)
R9 3AXD50000018855 (IP21) 3AXD50000018855 (IP20 and 1P21)
Frame size ACS580-01, ACH580-01, Ordering code
ACQ580-01 drive type
R1 ACS580-01-02A7-4 3AXD50000105311
R1 ACS580-01-03A4-4 3AXD50000105311
R1 ACS580-01-04A1-4 3AXD50000105311
R1 ACS580-01-05A7-4 3AXD50000105311
R1 ACS580-01-07A3-4 3AXD50000105311
R1 ACS580-01-09A5-4 3AXD50000105311
R1 ACS580-01-12A7-4 3AXD50000105311
R2 ACS580-01-018A-4 3AXD50000105328
R2 ACS580-01-026A-4 3AXD50000105328
R3 ACS580-01-033A-4 3AXD50000105335
R3 ACS580-01-039A-4 3AXD50000105335
R3 ACS580-01-046A-4 3AXD50000105335
Frame size Ordering code ACS880-11 Ordering code ACS880-31
R3 3AXD50000181018 3AXD50000181018
R6 3AXD50000179633 3AXD50000179633




18 Hardware description

Frame size Ordering code ACS880-11

Ordering code ACS880-31

R8 3AXD50000164318

3AXD50000164318

Frame size Ordering code ACH580-31

Ordering code ACQ580-31

R3 3AXD50000181018 3AXD50000181018
R6 3AXD50000179633 3AXD50000179633
R8 3AXD50000164318 3AXD50000164318

Note for ACS880-01: The separately ordered flange retrofit is kit compatible only

with drives that have been produced after 2016-01-01.




Mechanical installation for ACS880-01 19

Mechanical installation for
ACS880-01

Contents of this chapter

This chapter describes how to install the drive with the flange mounting kit /
mechanically.

Safety

WARNING! For frame sizes R6 to R9: Use the lifting eyes of the drive when
you lift the drive. Do not tilt the drive. The drive is heavy and its center of
gravity is high. An overturning drive can cause physical injury.

Ty
=




20 Mechanical installation for ACS880-01

Examining the installation site

Make sure that the installation site agrees with these requirements:

The installation site has sufficient ventilation to prevent overheating of the drive.
See section Losses, cooling data and noise in the hardware manual for the
required air flow in the cooling air channel and in the front part of the drive.

The operation conditions of the drive agree with the specifications in section
Ambient conditions in the hardware manual.

The mounting plate is vertical, not flammable and strong enough to hold the
weight of the drive module.

The material below the installation is not flammable.

There is enough free space above and below the drive for cooling air flow, service
and maintenance. There is enough free space in front of the drive for operation,
service and maintenance. See section Free space requirements on page 28 and
Dimensions, weights and free space requirements in the hardware manual.

Additional requirements for cabinet installations

Make sure that the cooling air gratings of the drive will not be covered. Make sure that
the required cooling air change is achieved. In a totally closed cabinet with no forced
ventilation, a fan for circulating the air inside the cabinet may be needed.

Necessary tools

Drill and drill bits
Screwdriver

Moving the drive

Move the transport package by a pallet truck to the installation site.




Mechanical installation for ACS880-01 21

Unpacking and examining the delivery

Transport package contents

The flange mounting kit package is either in the drive package, tied with straps onto

the drive package or sent separately. Examine that all items are present and there are
no signs of damage. Read the data on the type designation label of the drive to make
sure that the drive is of the correct type.




22 Mechanical installation for ACS880-01

Frames R1 to R5

Item | Description Item | Description
1 Straps 5 | Cardboard sleeve
2 | Printed manuals and quick guides, | 6...7 | Cushions
manuals CD and multilingual
residual voltage warning stickers
3 | Cardboard cover 8 | Drive with factory installed options
Flange mounting kit 9 |Cardboard tray

To unpack:

Cut the straps (1).

Remove the top cardboard cover (3), lift the flange mounting kit (4), and remove

the cushions (6...7).
Lift the cardboard sleeve (5).
Lift the drive (8).




Mechanical installation for ACS880-01 23

Frames R6 to R9

Item | Description Item | Description
1 Straps 5 Drive with factory installed options
2 Cardboard cover 6 Pallet stopper
3 Flange mounting kit 7 Pallet tray
4 Cardboard sleeve 8 Printed manuals and quick guides,
manuals CD and multilingual residual
voltage warning stickers

To unpack:

« Cut the straps (1).

* Remove the cardboard cover (2).

« Lift the flange mounting kit (3).

* Remove the cardboard sleeve (4).

« Attach lifting hooks to the lifting eyes of the drive (5). Lift the drive with a hoist.




24 Mechanical installation for ACS880-01

Flange mounting kit package contents

The illustrations show the layout of the flange mounting kit packages. Examine that all
items are present and there are no signs of damage.

Frames R1 to R3

Quick guide
Cable shelf
Top bracket

Grounding plate

Bottom bracket
Side brackets
Cardboard tray

Top cardboard cover

O N| OO B W[N| -~

Option kit package label

Mounting template

al -
N

Screw package:

* M5 nut (4 pcs)

* M6 nut (17 pcs) *

* M5x20 screw (4 pcs)

* M6x25 screw (10 pcs)

* M5x25 T20 screw (1 pcs)
+ M5x50 T20 (2 pcs)

12 | Sealing plug

13 | Sealing plate

14 | Tightening brackets
15 | Bottom U-bracket
16 | Top U-bracket

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




Mechanical installation for ACS880-01

Frames R4 to R5

Quick guide

Mounting template

Bottom bracket

Top bracket
Side brackets
Cardboard tray

Sealing plug

Top cardboard cover

O N| O | W[N]~

Option kit package label

-
o

Screw package:

* M6 nut (14 pcs) *

* M6x%20 screw (2 pcs)

* M6x%25 screw (13 pcs)

* M6x%10 T30 screw (R4: 6 pcs;
R5: 8 pcs)

11 | Hood (required for UL type 12)

12 | Tightening bracket

13 | Cable shelf

14 | Sealing tapes

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




26 Mechanical installation for ACS880-01

Frames R6 to R9

Quick guide

Mounting template

Top bracket

Bottom bracket

Side brackets

Top cardboard cover

Option kit package label

N[Ol [ W| N[~

Screw package:

* M6 nut (11 pcs) *

+ M6x10 T30 (12 pcs)

+ M6x25T25 (R6...R8: 16 pcs,
R9: 18 pcs)

Hood (required for UL type 12)

10

Cardboard tray

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




Mechanical installation for ACS880-01 27

Mounting template

The flange mounting kit package includes a template in actual size for drilling the
mounting holes and cutting the holes in the mounting plate.

An example template is shown below.




28 Mechanical installation for ACS880-01

Installing the drive

Free space requirements

The flange-mounted drives can be installed side by side. For free space requirements
above and below the drives, see the table.

Above ACS880-01
3 Above Below
° mm in mm in
200 7.87 300 11.81
® 200 7.87 300 11.81
200 7.87 300 11.81
200 7.87 300 11.81
e e 200 7.87 300 11.81
200 7.87 300 11.81
200 7.87 300 11.81
200 7.87 300 11.81
200 7.87 300 11.81
Below
e e o of e e o of
B o||e °




Mechanical installation for ACS880-01 29

Installing drives above one another

Make sure that the outlet cooling air flows away from the drive above.

200 mm
(7.87 in.) O
© ﬁj =
o 1Y
120mm A ®
250 mm | (4.72in.) ¥
(9.84 in.) 120 mm
(4.72in.) ©)
=
& o 0%

300 mm « Jo
(11.811in.)




30 Mechanical installation for ACS880-01

Installation procedure

Frames R1 to R3

1. To remove the fan assembly, push the retaining clip with a flat screwdriver. Lift the
assembly up.




Mechanical installation for ACS880-01 31

2. Insert the sealing plug to the hole shown in the figure.

3. Reinstall the fan assembly in reverse order.




32 Mechanical installation for ACS880-01

4. Attach the top and bottom U-brackets to the drive.

4 x M5 nut 6 N'm




Mechanical installation for ACS880-01 33

5. First attach the side brackets (a) to the top and bottom U-brackets with four
M6 nuts. Then, attach the tightening brackets (b) to the both ends with four
M5x20 screws. Last attach the sealing plate (c) to the bottom of the drive with two
M5x50 screws T20.

R “
4 x M6 nut 10 N-m = N W//\ /
4 x M5x20 screw 6 N'-m N <

2 x M5x50 screw T20 6 N'-m N \%




34 Mechanical installation for ACS880-01

6. Attach the top and bottom brackets to the side brackets.

8 x M6 nut
10 N'm




Mechanical installation for ACS880-01

7. Push the grounding plate (d) to the alignment pins of the bottom bracket and
fasten the plate to the drive with one M5%25 screw T20 and three M6 nuts.

Then attach the cable shelf (e) to the bottom bracket with two M6 nuts.

35

5x M6 nut 10 N'm
1 x M5x25 screw T20 6 N'm




36 Mechanical installation for ACS880-01

8. See chapter Dimension drawings for ACS880-01 for the dimensions of the flange
and the required opening in the mounting plate. Attach the mounting template
from the flange mounting kit package onto the mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.

@

/a




Mechanical installation for ACS880-01 37

9. Attach chains to the drive lifting holes and lift the drive with a lifting device onto the
opening in the mounting plate.

10. Attach the bottom bracket with one screw.

1 x M6x25 screw
10 N'm




38 Mechanical installation for ACS880-01

11. Attach the top bracket with one screw.

1 x M6x25 screw
10 N'm

12. Attach the rest of the mounting screws. Remove the chains.

8 x M6x2 screw
e 10 N'm




Mechanical installation for ACS880-01 39

Frames R4 to R5

1. To remove the fan assembly, lift the fan mounting plate up from the front edge.
Unplug the power supply wires. Lift the assembly off.




40 Mechanical installation for ACS880-01

3. Reinstall the fan assembly in reverse order.




Mechanical installation for ACS880-01 41

5. Attach the side brackets to the drive. Note that R4 has 6 screws for attaching the
side brackets while R5 has 8 screws.

R4: 6 x M6x10 screw T30
R5: 8 x M6x10 screw T30

4 x M6 nut 10 N'm
2 x M6x%20 screw 6 N'm




42 Mechanical installation for ACS880-01

7. Attach the top bracket to the side brackets.

4 x M6 nut 10 N-m

3 x M6 nut 10 N-m




Mechanical installation for ACS880-01 43

9. See chapter Dimension drawings for ACS880-01 for the dimensions of the flange
and the required opening in the mounting plate. Attach the mounting template
from the flange mounting kit package onto the mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.




44 Mechanical installation for ACS880-01

10. UL Type 12 drives only: Attach the hood to the cooling channel.

3 x M6 nut

10 N'm
/¢;: =
Back Front

Back: View from top

/

Back: View from bottom




Mechanical installation for ACS880-01 45

11. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.

{

12. Attach the top bracket with one screw.

1 x M6%25
10N'm




46 Mechanical installation for ACS880-01

13.

14

Attach the bottom bracket with one screw.

1 x M6%25
10N'm

. Attach the rest of the mounting screws. Remove the chains.

12 x M6x25
10 N'm




Mechanical installation for ACS880-01 47

Frames R6 to R9
1. Attach the side brackets of the flange to the drive.

12 x M6x10 T30
6 N'm

2. Attach the top and bottom brackets.

8 x M6 nut
6 N'm




48 Mechanical installation for ACS880-01

3. See chapter Dimension drawings for ACS880-01 for the dimensions of the flange
and the required opening in the mounting plate. Attach the mounting template
from the flange mounting kit package onto the mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.




Mechanical installation for ACS880-01 49

4. UL Type 12 drives only: Attach the hood to the cooling channel.

3 x M6 nut
6 N'm

/%;: =

Back Front Back: View from bottom Back: View from top

5. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.




50 Mechanical installation for ACS880-01

6. Attach the top bracket with one screw.

1 x M6x25
6 N'm

7. Attach the bottom bracket with one screw.

1 x M6x25
6 N'm




Mechanical installation for ACS880-01 51

8. Attach the rest of the mounting screws. Remove the chains.

R6...R8:
14 x M6x25
6 N'm

R9:
16 x M6x25
6 N'm




52 Mechanical installation for ACS880-01




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 53

Mechanical installation for
ACS580-01, ACH580-01 and
ACQ580-01

Contents of this chapter /

This chapter describes how to install the drive with the flange mounting kit
mechanically.

Safety

WARNING! For frame sizes R6 to R9: Use the lifting eyes of the drive when
you lift the drive. Do not tilt the drive. The drive is heavy and its center of
gravity is high. An overturning drive can cause physical injury.

Ty
=

. .
8. E&.
o o o e




54 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Examining the installation site

Make sure that the installation site agrees with these requirements:

The installation site has sufficient ventilation to prevent overheating of the drive.
See section Losses, cooling data and noise in the hardware manual for the
required air flow in the cooling air channel and in the front part of the drive.

The operation conditions of the drive agree with the specifications in section
Ambient conditions in the hardware manual.

The mounting plate is vertical, not flammable and strong enough to hold the
weight of the drive module.

The material below the installation is not flammable.

There is enough free space above and below the drive for cooling air flow, service
and maintenance. There is enough free space in front of the drive for operation,
service and maintenance. See section Free space requirements on page 60 and
Dimensions, weights and free space requirements in the hardware manual.

Additional requirements for cabinet installations

Make sure that the cooling air gratings of the drive will not be covered. Make sure that
the required cooling air change is achieved. In a totally closed cabinet with no forced
ventilation, a fan for circulating the air inside the cabinet may be needed.

Necessary tools

Drill and drill bits
Screwdriver

Moving the drive

Move the transport package by a pallet truck to the installation site.




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 55

Unpacking and examining the delivery

Transport package contents

The flange mounting kit package is either in the drive package, tied with straps onto
the drive package or sent separately. Examine that all items are present and there are
no signs of damage. Read the data on the type designation label of the drive to make
sure that the drive is of the correct type.

Frames RO to R4

The flange mounting kit package is tied onto the drive package.

To unpack:
* Cut the straps.

* Remove the flange mounting kit package. For the contents of the kit package, see
Frames RO to R4 on page 55.

« Open the drive cardboard box. For the contents of the drive package, see the
relevant drive hardware manual.

e Lift the drive.

Frames R5

The flange mounting kit package is tied onto the drive package. The drive package is
on a pallet.

To unpack:

* Cut the straps.

* Remove the flange mounting kit package. For the contents of the kit package, see
Frame R5 on page 58.

* Remove the drive cardboard box and option box.

* Remove the cover protecting film. For the contents of the drive package, see the
relevant drive hardware manual.

* Lift the drive.




56 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Frames R6 to R9

Item | Description Item |Description
1 Straps 5 Drive with factory installed options
2 Cardboard cover 6 Pallet stopper
3 Flange mounting kit 7 Pallet tray
4 Cardboard sleeve 8 Printed manuals and quick guides,

manuals CD and multilingual residual
voltage warning stickers

To unpack:
« Cut the straps (1).

* Remove the cardboard cover (2).
+ Lift the flange mounting kit (3).
* Remove the cardboard sleeve (4).

« Attach lifting hooks to the lifting eyes of the drive (5). Lift the drive with a hoist.




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 57

Flange mounting kit package contents

The drawings below show the layout of the flange mounting kit packages. Examine
that all items are present and there are no signs of damage.

Frames RO to R4

Mounting template

Quick guide

Tightening brackets

Bottom bracket
Side brackets
Cardboard tray

Top cardboard cover

Option kit package label

O N| OO B W[N| -~

Screw package:

* M4 nut (2 pcs)

» M5x20 screw (4 pcs)

* M6x25 screw
(RO...R1: 10 pcs; R2: 12 pcs;
R3: 14 pcs; R4: 16 pcs) *

* M6 nut (RO...R2: 18 pcs;
R3: 19 pcs; R4: 23 pcs)

10 | Hood (required for UL type 12)

11 | Sealing plug

12 | Top bracket

13 | Top and bottom U-brackets

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




58 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Frame R5

Mounting template

Quick guide

Tightening brackets

Bottom bracket
Side brackets
Cardboard tray

Top cardboard cover

Option kit package label

OO N| O[O | W[N]~

Screw package:

* M4 nut (2 pcs)

» M5x20 screw (4 pcs)

» M6x25 screw (16 pcs) *

* M6 nut (23 pcs)

10 |Hood (required for UL type 12)
11 | Top bracket

12 | Top and bottom U-brackets

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Frames R6 to R9

Quick guide

Mounting template

Top bracket

Bottom bracket
Side brackets
Top cardboard cover

Option kit package label

Screw package:

* M6 nut (11 pcs)

+ M6x10 T30 (12 pcs) *

+ M6x25 T25 (R6...R8: 16 pcs,
R9: 18 pcs)

9 Hood (required for UL type 12)

10 | Cardboard tray

¢
‘\\\Q )

§
(© @

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.

Mounting template

The flange mounting kit package includes a template in actual size for drilling the
attaching holes and cutting the holes in the mounting plate.

An example template is shown below.




60 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Installing the drive

Free space requirements

The flange-mounted drives can be installed side by side. For free space requirements
above and below the drives, see the table.

Above ACX580-01
3 Above Below
° mm in mm in
RO 100 3.94 200 7.87
R1 100 3.94 200 7.87
® R2 100 3.94 200 7.87
R3 115 4.53 200 7.87
R4 115 4.53 200 7.87
e e R5 115 4.53 200 7.87
R6 200 7.87 300 11.81
R7 200 7.87 300 11.81
R8 200 7.87 300 11.81
R9 200 7.87 300 11.81
Below
e e o of e e o of
B o||e °




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 61

Installing drives above one another

Make sure that the outlet cooling air flows away from the drive above.

200 mm

(7.87in.) 1o 19
O 1l & = o Tle o =
o 1Y o 1°8

120mm A 1T R B
250 mm | (472in.) ¥

(9.84 in.) 120 mm
(4.72in.) #

|

L
(@)
X

ke
op

ne
¢
e

ne

©

°n

300 mm « Jo
(11.811in.)




62 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Installation procedure

Frames RO to R5

1. Frames RO0...R4: To remove the fan assembly, push the retaining clip with a flat
screwdriver. Lift the assembly up. See also steps for IP21 on page 66.

N L
VL An
oL |\|‘m\mm




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 63

3. Frames RO0...R4: Reinstall the fan assembly.

i a i QZ:“.‘\-!' q
7. /~ 'g
7. ]Ilﬁmﬂ

4. Frames RO0...R5: Attach the U-brackets to the back of the drive.

4 x M6 nut
6 N'm




64 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

5. Frames RO...R5: First attach the side brackets (a) to the U-brackets which were
attached in step 4 with M6 nuts. Then attach the tightening brackets (b) to both
ends with M5x20 screws.

4 x M5x20 screw
3N'm
RO...R3: 4 x M6 nut
R4...R5: 8 x M6 nut
6 N'm




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 65

6. Frames RO0...R5: Attach the top (c) and bottom (d) brackets to the side brackets,
first the inner sides (the sides that touch the drive), then the outer sides. Remove
the tightening bracket (e) from the front of the fan.

|
= \\'
*k\

U
Y ]
* o MR §
——
[\

 ———

1

8 x M6 nut
6 N'm




66 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Note for frames RO0...R5, P21:

If you use the IP21 cover with the flange mounting kit, install an internal fan (sold
separately) to the drive or remove the IP21 cover for ventilation (f).

If you install an IP21 drive in dry environment, you can leave the cover in place
but DO NOT insert the sealing plug.

Frame R5 has an internal fan. With R5, you can leave the cover in place.

Note: Save the
screw!

1.5N'm




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 67

Optional steps:

« If you wish to install the power cable shelf lower on the bottom bracket, first
remove the cover and lead-through plate.

» Then detach the power cable shelf and attach it to the bottom bracket with M4
nuts.




68 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Note: Frame R3 is shown here as an example. The cable shelf varies in different
frame sizes.

Note: Reinstall the screws to avoid
moisture exchange through the
empty holes!

2 x M4 nut
1.5N'm




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 69

7. See chapter Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01
for the dimensions of the flange and the required opening in the mounting plate.
Attach the mounting template from the flange mounting kit package onto the
mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.

B
S — d

| i




70 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

8. UL Type 12 drives only: Attach the hood to the cooling channel.

3 :eﬁ
RO...R2:
2 x M6 nuts
R3...R5:
3 x M6 nuts
6 N-m
Front Back

Back: View from top Back: View from bottom




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 71

9. Attach chains to the drive lifting holes and lift the drive with a lifting device onto the
opening in the mounting plate.

10. Attach the bottom bracket with one screw.
11. Attach the top bracket with one screw.

12. Attach the rest of the mounting screws. Remove the chains.

1 x M6x25 screw
6 N'm

1 x M6x25
screw
6 N'm

RO...R1: 8 x M6x25 screw \%
R2: 10 x M6x25 screw N

° R3: 12 x M6x25 screw N ®
R4...R5: 14 x M6%x25 .
screw

6 N'm M\L o
N
P . %




72 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

Frames R6 to R9
1. Attach the side brackets of the flange to the drive.

12 x M6x10 T30
6 N'm

/

2. Attach the top and bottom brackets.

d, | 1

8 x M6 nut
6 N'm




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01 73

3. See chapter Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01
for the dimensions of the flange and the required opening in the mounting plate.
Attach the mounting template from the flange mounting kit package onto the
mounting plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.




74 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

4. UL Type 12 drives only: Attach the hood to the cooling channel.

3 x M6 nut
6 N'm

/e

Back Front Back: View from bottom Back: View from top

5. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.




Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

6. Attach the top bracket with one screw.

75

1 x M6x25
6 N'm

7. Attach the bottom bracket with one screw.

1 x M6x25
6 N'm




76 Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01

8. Attach the rest of the mounting screws. Remove the chains.

R6...R8:
14 x M6x25
6 N'm

R9:
16 x M6x25
6 N'm




Mechanical installation for ACS880-11 and ACS880-31 77

Mechanical installation for
ACS880-11 and ACS880-31

Contents of this chapter

This chapter describes how to install the drive with the flange mounting kit /
mechanically.

Safety

WARNING! For frame sizes R6 and R8: Use the lifting eyes of the drive when
A you lift the drive. Do not tilt the drive. The drive is heavy and its center of
gravity is high. An overturning drive can cause physical injury.

o) »3@@@@:
=l




78 Mechanical installation for ACS880-11 and ACS880-31

Examining the installation site

Make sure that the installation site agrees with these requirements:

The installation site has sufficient ventilation to prevent overheating of the drive.
See section Losses, cooling data and noise in the hardware manual for the
required air flow in the cooling air channel and in the front part of the drive.

The operation conditions of the drive agree with the specifications in section
Ambient conditions in the hardware manual.

The mounting plate is vertical, not flammable and strong enough to hold the
weight of the drive module.

The material below the installation is not flammable.

There is enough free space above and below the drive for cooling air flow, service
and maintenance. There is enough free space in front of the drive for operation,
service and maintenance. See section Free space requirements on page 84 and
Dimensions, weights and free space requirements in the hardware manual.

Additional requirements for cabinet installations

Make sure that the cooling air gratings of the drive will not be covered. Make sure that
the required cooling air change is achieved. In a totally closed cabinet with no forced
ventilation, a fan for circulating the air inside the cabinet may be needed.

Necessary tools

Drill and drill bits
Screwdriver

Moving the drive

Move the transport package by a pallet truck to the installation site.




Mechanical installation for ACS880-11 and ACS880-31 79

Unpacking and examining the delivery

Transport package contents

The flange mounting kit package is either in the drive package, tied with straps onto

the drive package or sent separately. Examine that all items are present and there are
no signs of damage. Read the data on the type designation label of the drive to make
sure that the drive is of the correct type.




80 Mechanical installation for ACS880-11 and ACS880-31

Frame R3

3AXD50000041449

Item Description Item Description
1 Mounting template 5 Sleeve
2 PET straps 6 Package cushion
3 Printed quick guides and manuals, 7 Foam cushion

multilingual residual voltage
warning sticker, manuals CD

4 Tray 8 Drive with factory installed options.

» To unpack:

+ Cut the straps (2).

* Remove the tray (4) and sleeve (5).
* Remove the cover protecting film.

+ Lift the drive (8).




Mechanical installation for ACS880-11 and ACS880-31 81

Frames R6 and R8

Item | Description Item | Description
1 Straps 5 Drive with factory installed options
2 Cardboard cover 6 Pallet stopper
3 Flange mounting kit 7 Pallet tray
4 Cardboard sleeve 8 Printed manuals and quick guides,
manuals CD and multilingual residual
voltage warning stickers

To unpack:

« Cut the straps (1).

* Remove the cardboard cover (2).

« Lift the flange mounting kit (3).

* Remove the cardboard sleeve (4).

« Attach lifting hooks to the lifting eyes of the drive (5). Lift the drive with a hoist.




82 Mechanical installation for ACS880-11 and ACS880-31

Flange mounting kit package contents

The illustrations below show the layout of the flange mounting kit packages. Examine
that all items are present and there are no signs of damage.

Frame R3

Mounting template

Quick guide

Tightening brackets

Bottom bracket
Side brackets
Cardboard tray

Top cardboard cover

Option kit package label

O N| OO B W[N| -~

Screw package:

* M4 nut (2 pcs)

* M5x20 screw (4 pcs)

* M6x25 screw *
(RO...R1: 10 pcs; R2: 12 pcs;
R3: 14 pcs; R4: 16 pcs)

* M6 nut (RO...R2: 18 pcs;
R3: 19 pcs; R4: 23 pcs)

10 | Hood (required for UL type 12)

11 | Sealing plug

12 | Top bracket

13 | Top and bottom U-brackets

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.




Mechanical installation for ACS880-11 and ACS880-31

Frames R6 and R8

Quick guide

Mounting template

Top bracket

Bottom bracket
Side brackets
Top cardboard cover

Option kit package label

Screw package:

* M6 nut (11 pcs) *

+ M6x10 T30 (12 pcs) *

+ M6x25 T25 (R6...R8: 16 pcs,
R9: 18 pcs)

9 Hood (required for UL type 12)

10 | Cardboard tray

¢
‘\\\Q )

§
(© @

* The delivery does not include the Rivet or Kalei
nuts for the M6 screws.

Mounting template

The flange mounting kit package includes a template in actual size for drilling the
attaching holes and cutting the holes in the mounting plate.

An example template is shown below.




84 Mechanical installation for ACS880-11 and ACS880-31

Installing the drive

Free space requirements

The flange-mounted drives can be installed side by side. For free space requirements
above and below the drives, see the table.

Above ACS880-11 and ACS880-31
e 0 0 o F Above Below
° ° mm in mm in
200 7.87 300 11.81
200 7.87 300 11.81
® ° 200 7.87 300 11.81
e ®
e ®
o e e e e o
Below
]':; ® ) ) ) )
) ) )




Mechanical installation for ACS880-11 and ACS880-31 85

Installing drives above one another

Make sure that the outlet cooling air flows away from the drive above.

200 mm

(7.87in.) 1o 19
O 1l & = o Tle o =
o 1Y o 1°8

120mm A 1T R B
250 mm | (472in.) ¥

(9.84in.) 120 mm
(4.72in.) #

|

L
(@)
X

ke
op

ne
¢
e

ne

©

°n

300 mm « Jo
(11.811in.)




86 Mechanical installation for ACS880-11 and ACS880-31

Installation procedure

Frame R3
1. Attach the U-brackets to back of the drive.

4 x M5 nut
6 N'm




Mechanical installation for ACS880-11 and ACS880-31 87

2. Attach the side brackets to the U-brackets with M6 nuts.

4 x M6 nut 10 N'-m




88 Mechanical installation for ACS880-11 and ACS880-31

3. Attach the top and bottom brackets to the side brackets.




Mechanical installation for ACS880-11 and ACS880-31 89

4. See chapter Dimension drawings for ACS880-11 and ACS880-31 for the
dimensions of the flange and the required opening in the mounting plate. Attach
the mounting template from the flange mounting kit package onto the mounting
plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.

7~ Y 7 )

B
S — d

| i




90 Mechanical installation for ACS880-11 and ACS880-31

5. Attach chains to the drive lifting holes and lift the drive with a lifting device onto the
opening in the mounting plate.

/

6. Attach the bottom bracket with one screw.

1 x M6x25 screw 10
N-m




Mechanical installation for ACS880-11 and ACS880-31 91

7. Attach the top bracket with one screw.

1 x M6x25 screw 10
N-m

8. Attach the rest of the mounting screws. Remove the chains.

8 x M6x25 screw 10
N-m




92 Mechanical installation for ACS880-11 and ACS880-31

Frames R6 and R8
1. Attach the gasket.




Mechanical installation for ACS880-11 and ACS880-31 93

2. Attach the side brackets.

12 x M6%10 T30




94 Mechanical installation for ACS880-11 and ACS880-31

Attach the top and bottom brackets to the side brackets, first the inner side (the
side that touches the drive), then the outer sides.

Q

"‘*wﬂw —1i g ®"

o

®
X
=
=3
3
=4
@@ S




Mechanical installation for ACS880-11 and ACS880-31 95

4. |P20: Install the sealing screws.

R6 (IP20)

RS (IP20)

5 x M5%x12 T20 ,
3N'm

9 x M5x12 T20
3N'm




96 Mechanical installation for ACS880-11 and ACS880-31

5. See chapter Dimension drawings for ACS880-11 and ACS880-31 for the
dimensions of the flange and the required opening in the mounting plate. Attach
the mounting template from the flange mounting kit package onto the mounting
plate.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts (not included in the delivery). Remove the
mounting template.




Mechanical installation for ACS880-11 and ACS880-31

6. UL Type 12 drives only: Attach the hood to the cooling channel.

97

/ﬁaz —
3 x M6 nut
6 N'm
Back Front

Back: View from bottom

19
© e & =
o ° Y |
g
Back Front

Back: View from top




98 Mechanical installation for ACS880-11 and ACS880-31

7. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.




Mechanical installation for ACS880-11 and ACS880-31

8. Attach the top bracket with one screw.

= 1 x M6x25
6 N'‘m
9. Attach the bottom bracket with one screw.
o 1 x M6x25
6 N'm




100 Mechanical installation for ACS880-11 and ACS880-31

10. Attach the rest of the mounting screws. Remove the chains.




Mechanical installation for ACH580-31 and ACQ580-31 101

Mechanical installation for
ACH580-31 and ACQ580-31

Contents of this chapter

This chapter describes how to install the drive with the flange mounting kit /
mechanically.

Note! Some installation figures display the face of the ACH580-31 model instead of

the ACQ580-31 model and vice versa. The installation instructions are still applicable

for both models.




102 Mechanical installation for ACH580-31 and ACQ580-31

Safety

WARNING! For frame sizes R6 and R8: Use the lifting eyes of the drive when

you lift the drive. Do not tilt the drive. The drive is heavy and its center of
gravity is high. An overturning drive can cause physical injury.

/ Examining the installation site

Make sure that the installation site agrees with these requirements:

» The installation site has sufficient ventilation to prevent overheating of the drive.
See section Losses, cooling data and noise in the hardware manual for the
required air flow in the cooling air channel and in the front part of the drive.

« The operation conditions of the drive agree with the specifications in section
Ambient conditions in the hardware manual.

+ The mounting plate is vertical, not flammable and strong enough to hold the
weight of the drive module.

+ The material below the installation is not flammable.

* There is enough free space above and below the drive for cooling air flow, service
and maintenance. There is enough free space in front of the drive for operation,
service and maintenance. See section Free space requirements on page 109 and
Dimensions, weights and free space requirements in the hardware manual.

Additional requirements for cabinet installations

Make sure that the cooling air gratings of the drive will not be covered. Make sure that
the required cooling air change is achieved. In a totally closed cabinet with no forced
ventilation, a fan for circulating the air inside the cabinet may be needed.




Mechanical installation for ACH580-31 and ACQ580-31 103

Necessary tools
* Drill and drill bits
* Screwdriver

Moving the drive

Move the transport package by a pallet truck to the installation site.

Unpacking and examining the delivery

Transport package contents

The flange mounting kit package is either in the drive package, tied with straps onto

the drive package or sent separately. Examine that all items are present and there are
no signs of damage. Read the data on the type designation label of the drive to make
sure that the drive is of the correct type.




104 Mechanical installation for ACH580-31 and ACQ580-31

Frame R3

3AXD50000041449

Item Description Item Description
1 Mounting template 5 Sleeve
2 PET straps 6 Package cushion
3 Printed quick guides and manuals, 7 Foam cushion

multilingual residual voltage
warning sticker, manuals CD

4 Tray 8 Drive with factory installed options.

» To unpack:

+ Cut the straps (2).

* Remove the tray (4) and sleeve (5).
* Remove the cover protecting film.

+ Lift the drive (8).




Mechanical installation for ACH580-31 and ACQ580-31 105

Frames R6 and R8

Item | Description Item | Description
1 Straps 5 Drive with factory installed options
2 Cardboard cover 6 Pallet stopper
3 Flange mounting kit 7 Pallet tray
4 Cardboard sleeve 8 Printed manuals and quick guides,
manuals CD and multilingual residual
voltage warning stickers

To unpack:

« Cut the straps (1).

* Remove the cardboard cover (2).

« Lift the flange mounting kit (3).

* Remove the cardboard sleeve (4).

« Attach lifting hooks to the lifting eyes of the drive (5). Lift the drive with a hoist.




106 Mechanical installation for ACH580-31 and ACQ580-31

Flange mounting kit package contents

The illustrations show the layout of the flange mounting kit packages. Examine that all
items are present and there are no signs of damage.

Frame R3

Mounting template

Quick guide

Tightening brackets

Bottom bracket
Side brackets
Cardboard tray

Top cardboard cover

Option kit package label

0N
©
O N| O | W[N]~

Screw package:

* M4 nut (2 pcs)

* M5x20 screw (4 pcs)

* M6x25 screw
(RO...R1: 10 pcs; R2: 12 pcs;
R3: 14 pcs; R4: 16 pcs)

* M6 nut (RO...R2: 18 pcs;
R3: 19 pcs; R4: 23 pcs)

10 | Hood (required for UL type 12)

11 | Sealing plug

12 | Top bracket

13 | Top and bottom U-brackets




Mechanical installation for ACH580-31 and ACQ580-31

Frames R6 and R8

107

Quick guide

Mounting template

Top bracket

Bottom bracket

Side brackets

Top cardboard cover

Option kit package label

O N[O B[ W|N| -~

Screw package:

* M6 nut (11 pcs)

+ M6x10 T30 (12 pcs)

+ M6x25T25 (R6...R8: 16 pcs,
R9: 18 pcs)

Hood (required for UL type 12)

10

Cardboard tray




108 Mechanical installation for ACH580-31 and ACQ580-31

Example mounting template

The flange mounting kit package includes a template in actual size for drilling the
attaching holes and cutting the holes in the mounting plate. For drilling the holes, see
the installation procedures for:

« Frame R3,
* Frames R6 and R8.

Note: The delivery does not include the Rivet or Kalei nuts for the M6 screws.
Consider the hole size for the nuts.

An example template is shown below.




Mechanical installation for ACH580-31 and ACQ580-31 109

Installing the drive

Free space requirements

The flange-mounted drives can be installed side by side. For free space requirements
above and below the drives, see the table.

Above ACH580-31 and ACQ580-31
e ® ® ofF T Above Below
° ° mm in mm in
200 7.87 300 11.81
200 7.87 300 11.81
o = o 200 7.87 300 11.81
@ @
] ]
o @ ] @ @7 o
Below




110 Mechanical installation for ACH580-31 and ACQ580-31

Installing drives above one another

Make sure that the outlet cooling air flows away from the drive above.

200 mm
(7.87 in.)

ne

Ll
Ll

0
°
©

[

120mm A
250 mm (4.72in.) ¥

(9.84in.) 120 mm
(4.72in.) ¢

P
©
|
ol
G

o 1] &
o §
O ]
o @8‘:'
o
o
L)
o
o
L)
o
®
o0
>
e @
& o 9

[

300 mm 4 1o
(11.811in.)




Mechanical installation for ACH580-31 and ACQ580-31

Installation procedure

Frame R3

1. Frame R3: To remove the fan assembly, push the retaining clip with a flat
screwdriver. Lift the assembly up. See also steps for IP21 on page 7715.

eF
|mﬁﬁﬂm

I |~




112 Mechanical installation for ACH580-31 and ACQ580-31

3. Frame R3: Reinstall the fan assembly.

o=
il |

/ 4. Frame R3: Attach the top and bottom U-brackets to the drive.

4 x M6 nut
6 N'm




Mechanical installation for ACH580-31 and ACQ580-31 113

5. Frame R3: First attach the side brackets (a) to the top and bottom U-brackets with
M6 nuts. Then attach the tightening brackets (b) to the both ends with M5x20
screws.

4 x M5%20 screw
3N'm
RO...R3: 4 x M6 nut Note: Attach this end of the side

R4.. R5: 8 x M6 nut brackets to the bottom U-bracket to

6N'm make sure that the sealing is tight.




114 Mechanical installation for ACH580-31 and ACQ580-31

6. Frame R3: Attach the top (c) and bottom (d) brackets to the side brackets, first the
inner sides of the top and bottom brackets (the sides that touch the drive), then
the outer sides. Remove the tightening bracket (e) from the front of the fan.

S

i
¥
el |

¥

\[

\\\'
3

@

10

R
—




Mechanical installation for ACH580-31 and ACQ580-31 115

1P21:

+ If you use the IP21 cover with the flange mounting kit, install an internal fan (sold
separately) to the drive or remove the IP21 cover for ventilation (f).

« If you install an IP21 drive in dry environment, you can leave the cover in place
but DO NOT insert the sealing plug.




116 Mechanical installation for ACH580-31 and ACQ580-31

7. See chapter Dimension drawings for ACH580-31 and ACQ580-31 for the
dimensions of the flange and the required opening in the mounting plate. Attach
the mounting template from the flange mounting kit package onto the mounting
plate.

Note: Mounting templates are different (size, number and position of holes) for
different frame sizes.

Note: The delivery does not include Rivet or Kalei nuts for the M6 mounting
SCrews.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts. Remove the mounting template.




Mechanical installation for ACH580-31 and ACQ580-31 117

8. Attach chains to the drive lifting holes and lift the drive with a lifting device onto the
opening in the mounting plate.

9. Attach the bottom bracket with one screw.
10. Attach the top bracket with one screw.

11. Attach the rest of the mounting screws. Remove the chains.

1 x M6x25 screw
6 N'm

1 x M6x25
screw
6 N'm

RO...R1: 8 x M6x25 screw \%
R2: 10 x M6x25 screw N

° R3: 12 x M6x25 screw N ®
R4...R5: 14 x M6%x25 .
screw

6 N'm M\L o
N
@ AN %




118 Mechanical installation for ACH580-31 and ACQ580-31

Frames R6 and R8
1. Attach the side brackets of the flange to the drive.

12 x M6x10 T30
6 N'm

/

2. Attach the top and bottom brackets.

8 x M6 nut
6 N'm




Mechanical installation for ACH580-31 and ACQ580-31 119

3. See chapter Dimension drawings for ACH580-31 and ACQ580-31 for the
dimensions of the flange and the required opening in the mounting plate.Attach
the mounting template from the flange mounting kit package onto the mounting
plate.

Note: The delivery does not include Rivet or Kalei nuts for the M6 mounting
screws.

Make the opening and drill the holes for the mounting screws. Consider the hole
size for the Rivet or Kalei nuts. Remove the mounting template.




120 Mechanical installation for ACH580-31 and ACQ580-31




Mechanical installation for ACH580-31 and ACQ580-31

4. UL Type 12 drives only: Attach the hood to the cooling channel.

121

3 x M6 nut
6 N'm

/%;: =

Bottom

Back

Top

5. Attach the chains to the lifting holes of the flange and lift the drive with a lifting
device onto the opening in the mounting plate.




122 Mechanical installation for ACH580-31 and ACQ580-31

6. Attach the top bracket with one screw.

1 x M6x25
6 N'm

7. Attach the bottom bracket with one screw.

1 x M6x25
6 N'm




Mechanical installation for ACH580-31 and ACQ580-31 123

8. Attach the rest of the mounting screws. Remove the chains.

R6...R8:
14 x M6x25
6 N'm

R9:
16 x M6x25
6 N'm




124 Mechanical installation for ACH580-31 and ACQ580-31




Dimension drawings for ACS880-01 125

Dimension drawings for
ACS880-01

Contents of this chapter

This chapter contains the dimension drawings of the flange mounting kits and
required openings in the mounting plate.




126 Dimension drawings for ACS880-01

Frame R1

7
3AXD50000024531

T 82
S
[EC711 69¢
j19,4 114.94)
)
e SR TR ] R -
— — 44‘@77477% P :
[QN] (o] s
g 0| N
o = =

[60°¢1 [86 61 | [86°G] L9r 21
GLL 651 651 69
[L0°81]




Dimension drawings for ACS880-01 127

Attaching points and hole dimensions

<
<

o

o
|
|
|
|
o
304
971
85
[15.16]
423
[16.65]

1]
3

|24
[4.88]
180
[7.09]
229
[9.02]

3AXD50000024858




128 Dimension drawings for ACS880-01

Frame R2

[GE €17 et %

173

6.817
3AXD50000024532

=
_ g\~ [6°GI] €0y
i I
- I
2 L

e
U=
~ ii [G 71T 69¢

e 379,3 114933
=
[G9°91] €¥

173

(651 S| L] 8l wﬁi

[10.67]

21

[Lo"gl] 65y




Dimension drawings for ACS880-01 129

Attaching points and hole dimensions

@
<

@

o
|
|
|
|
o
304
971
85
[15.16]
423
[16.65]

1]
3

ary
O

|24
[4.88]
180
[7.09]
2?29
[9.02]

3AXD50000024859




130 Dimension drawings for ACS880-01

Frame R3

ki

3AXD50000024533

71,8

[6.76]

[0 0¢1 606

W‘H‘ [ZE°GI] 68€
I T =
olll & 2 &l
oo o
= © R
8- (057917 617
N 1281
T16.88]
189 [8L°81]
g 9 [
e
o
_ —| — 14 —
gm[a <
2 <o =
[£6°2) (60711 | 1601 [y2
] 081 091 $76

e




Dimension drawings for ACS880-01 131

Attaching points and hole dimensions

¢ &
4 N\
© &
|
|
|
I
¢ - S ¢ O;@:V\;
‘ O I [e— < |
|
|
|
|
|
& ! o
- )
& o
140
[5.51]
195
[7.68]
246
[9.69]

3AXD50000024860




132 Dimension drawings for ACS880-01

Frame R4

20,1 14171

2 1.08]

30 [1.18]

223,

3AXD50000030170

18.18]

P
~ 149,4 15.88]
3
182 (1111 .
° J 53 12,091
o “
o
. 2 2
Ik i, 2
b g; 7 i
o T[T ) 7
- g S
2 g
gK N
327 112871 © 81,2 [3.201

559.8 [22.04]

190,4 17.501

1

'

Oe

)

(=]

203 [7.99]

1




Dimension drawings for ACS880-01 133

Hood is needed for UL Type 12 drives only

o

N~

o

I%2)

@ e\ > e e o o

- [s)

ol — = ° < 8
N 1 - 1 I
E E ] N © CINg S "8
>

<

)

289
272
é

[€67¢l 9768

[69°1 6¢'LI

191.3 [7.53]

10 [.39]

50 [1.97]

120 [4.72]

[6€°€1 2798

vy €1 66




134 Dimension drawings for ACS880-01

Attaching points and hole dimensions

182
[7.17]
120
11721 ]
(o) 50
[.39] [1.97]
| o=
l | ol
= ! 132
= ¥ ol 2l
|
S ! s
I
1
| -
| ol -
| Sl
1
& ! &
I
— 1
2= Ble ol
\ O
N :
1 —
| B
- i
& ‘
1
182
(7.17]
230
[9.06]
282

L1101l 3AXD50000027190




Dimension drawings for ACS880-01 135

Frame R5

[e0]
[c]
o
- @ o i o 'y NG
— N
J o = 8
© o °
: . . . Q
© . . o
° ' . .0 =]
~ o/l o
= >
- |[®@ © B @ <
e ®
(0721 15
5
= (167927 87699
~ S NI
3 \
o
2
2
06577 51 o117 ot
o ° °
e T T ] M X |
. g &l e o Z‘ S
[T N | = ouf —| S > > -
~| o] 2 S 2| co| |m 2 > 2| -
Ll EE L =T L e o =
' % S {E % ELQ L y E §
i L] [:]
“ . .
S : 065 L1 | 16571
(90711 e6L 05621 L 1261 261 96721 665
(0281 280z |

[ore1 ¢ 1ee 1997821 8L




136 Dimension drawings for ACS880-01

Hood is needed for UL Type 12 drives only

T (-] (-]
=l = i :
| °, C , 0
1 © T O
[€C7¢T 9768
[69 ] Q‘L
o
5 = [9€727 09
= ° ° ° o o
SRR ‘
= B E
= =%
) () () o o
[6€7€1 798

[79°¢1 66

3AXD50000027088




Dimension drawings for ACS880-01 137

Attaching points and hole dimensions

645

29

55 10 50
(2171 [2.76] (1,971
| <l
+ i$ ¢
. =
|
< © 4
88,5 | 88,5
@ [3.48]| (3. 48] @
'Ri0
| [.39] B
. R
| o
1
230 |
[9.067!
& | &
1
g | S|
|
S ! =
|
1
| =
| a1
| =
1
i 282 | i
X (1107 1
|
@ ! + <
E | =
N |
26,5 177
1,047 [6.97]

3AXD50000018602




138 Dimension drawings for ACS880-01

Frame R6

224
224
(oY)
o
. o
= e
R o
_ 0
— [m]
- <
S 1e9 LIS, Loyl [ILSIL 06911
S 77 Sl 881 STl o
2 = I =
S= [T —
T B —
ol e T
E o — I8
(90 171 12 8677 G2
(1721 719
661 S
3117 06
(€0 127 256 ‘
= e
1 —l l:.«l
CEEEERR BT =
S <l 2 = ) I
i B e e [ T - 777’4***%‘* O =
o~ = ¥ =
~ - iESUS{=S ‘ =y
o — — [aglee) Ul o~ %
Qe 5 B . &g
oo — 6 -——6-— ol @
[9,°2) _ .
oL [1e°¢) 19797 | 119791 | 1199 (L2l
G 78 891 89| 291 69
0C| (97 921 209




Dimension drawings for ACS880-01

Hood is needed for UL Type 12 drives only

L1381

289

[86°¢1 101 %
- [vI €1 S6
3> IRIEE
: - | AR ° ° o o
* B i W L3 —F
i Fa . S I T
D A o 14
‘—J @ Ee
—
(] 3 (-] (-3 @ (-]
(2591 9769
[CCCT of
FTrorET 16
—
-l © 9
5: [ ] [ ]
[0 O
(NI [T
(-] o i3 (-] (-]
- o oon QC ? <] [0
= o o
E ° oon Eg °
o o (-] o o

139

3AXD50000021919




140 Dimension drawings for ACS880-01

Attaching points and hole dimensions

89 70 50 &8
B (3507 (12767 01971 [ 377
N | 3 pes
- 0L 9.1 _
i 367
1 —
‘4% g
" i
100 4 100
+ [3.947 | [3.94] +
19 . A
(1937 | NG
! -
| 2le
1 —_——
|
1
+ | +
1
|
— | —
= | o
S 208 ! gl
(11731
1
+ | _+
]
|
I —
| =
. 334 . gl
‘ IERE ‘
]
4l
]
|
T :
— ] O
<= | <=
|
i
49 200
(1931 (7,871

3AXD50000019323




Dimension drawings for ACS880-01 141

Ler 8¢l ¢eL

Frame R7
o
N
D
%a
o
o
o
o
o
0
[m]
>
. . . . . <
(1911 [1/°G] [GV 6] [1L°G] [19 1] &
Iy Gyl 0r¢ A I
e [T -
P (RN R, =
B ”Q@ G
- i G A
<l — ©
. — _
[90° 11 L¢ [86°]1 G¢ 3
[v17921 799 ©
N ] 8 —
b I el LN =
=R =
[9L°¢21 0L [2¢°1] [2€°1] [2€°1] [79°2]
[€¢°¢€] (8 981 981 981 19
[l 7] 01




142 Dimension drawings for ACS880-01

Hood is needed for UL Type 12 drives only

[96€T 101
TV €T 6
5 [ST7¢T 08
o e |o ° ° ol o
o~ 13 \ @ O
o . E
o 9 ©
%= T H
= g
B © —
; o o o o o o
(87 91 97791
(26761 SEl
FTT6c T 216
~lea [} Q|
S
1111} [T
o o ° 1 ° ° °
o = ol -9 @ > %
I = ° ° o
% e - o o
SN . i
S ° c<; ° ° ) b
° ° ° -l [] [} °

3AXD50000021920




Dimension drawings for ACS880-01 143

Attaching points and hole dimensions

103 12 52 &
8
[4.06] [12.83] [2.051 e
) 3 pes
[ @9, 1
i / 7 360
- .
ol | <
! Q=
@ o | e @
1
| /
¢ | RI0 &
| [.39]
1
|
| Sl
! ol
|
1
& | &
1
|
1
Y S|~
| | -~
I
1
& | &
1
I
330 | ~
[12.997 1 o™
' <=
. 366 l
(T |
1
|
& | & @ —
= | 2
Sl X b
|
39 84 84 84 |5
[1.54] (3317 (3317 " (3.31] :

3AXD50000019324




144 Dimension drawings for ACS880-01

Frame R8

[607¢€] vIg

N
(o))
N
o
o
o
— o
o (=]
— [§2'r] [11°6] [0y 11 [1L°6] [6'y 8
= 801 Gyl 88| Gyl 80 <
S8 <
%)
AR Il I
— . o ~
— G —
©los 2 *
<= ..
& — [
2l 171 G'8¢ 8011 6 L2 |
[€67°641 0GL
[9¢° 11 ¢¢
[81°11 0¢
[6L"] 0¢ ‘
[€6°92]1 789
. s — % — % — % Py
;  —
—| =] O —|—| —| e . =
| = O O = —
i P R L Rl B N =
e D) ————F o
= o I ¥ o
R EEEED s | S
Dl —| ||| | L g > ~
- 2 /
: b
o — - — - — - — & — - — - & hd
(oLel ot 0197 | [19°9] [19°9] (19797 _[[v8'¥]
[ZLv1 0dl GGl 891 891 891 €1




Dimension drawings for ACS880-01 145

Hood is needed for UL Type 12 drives only

&
(€1 011 2
‘ S
T[0T v =
[€8 ¢J <L S
o
— 9]
< ° ° ° ° ° ° fa)
© -~ |2 <
S . | S
(3 [e]
e ¢
_ . ° o
S’: —
— = (] o o o o °
(07791 9291
(7261 €€l
(0S¢ 699
=
= c o
ooz °
g‘—‘ o [ ]
L] 0,
©) O
° ° ° [ ° ° °
_ o) o o L
= . d 00 o o)
=2 ° o
- ol ’ Pl |-
<l 2 | . ’ o
= « 9 oo o |
i Q o o o
° ° ° L ° ° °




146 Dimension drawings for ACS880-01

Attaching points and hole dimensions

8 93 90 10
[32] [3.661 [ [3.547 |[2.76]
\ B9, |
& [.36]
—— —&— N
13 100 100
12,877 [3.941 " [3.94]
RIO
[.39]
4 Pcs .
2l
e ol
== 400 -
[15.75]
=l
346 2
[13.62] =
——
13 200
[2.87] [7.87]

3AXD50000019325




Dimension drawings for ACS880-01 147

Frame R9
N
(o]
(o))
N
o
o
o
5811 197 8] [69°9] 19781 11 g
I Iz 0Ll 512 3
a
53
<
[90]
2= 2
ol
<=
(907171 2 8671 S¢
(1€ 627 9vL
08111 0¢
0651 Gl ‘
(€6 921 799 ‘
oo —-—-o—-—-—~6—— —o——— -o
Sl o oo g
— —| 2| o] o) D
I g S
>
_ © &—————0-—-— 86— - — ¢ —1:
[Zrvy ozr €971 9l
T O T [51°¢] [ve 9] | (e 91 | [v€ 91 | [¥E 9] 12523
(6991 0L 08 K] E]] 19 9] 79

[6971¢€] ¥08




148 Dimension drawings for ACS880-01

Hood is needed for UL Type 12 drives only

(57797 791
(2297 851
(65761 arl
= ) o o—-—-—0—-—-—0 o
ol \ 1o
. 8
= E "
3
2 A
- o — 0o — 0 o ol o
(70761 17622
(08 17 861
(66751 2720
O,, Q
] [ ]
[ ] [ ] [ ]
O
|
1 |
B (-] (-] (-] (-] (-] o
QO o ° o ¢
= - ° o
o= . L. o
© e _e
== . . -
2 g N :
S e o ° °°<m
- ° ° e ° o

3AXD50000021922




Dimension drawings for ACS880-01 149

Attaching points and hole dimensions

@8 12,5 110 90
[.32] [4.43] [4.331 | [3.54]
3 Pes
\ ——
@9, 1
< [.36]
+ &
i
RIO
[.39] =
+ b
i
e + +
. 462 P
[18.19] s
425 T
[16.73] 1
*** 7
—— —— —— oy
2 2=
102 132 102

4,
(1751 (4021~ [5.201  [4.02] 3AXD50000019326




150 Dimension drawings for ACS880-01




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 151

Dimension drawings for
ACS580-01, ACH580-01 and
ACQ580-01

Contents of this chapter

This chapter contains the dimension drawings of the flange mounting kits and
required openings in the mounting plate.




152 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame RO
For ACS580-01, ACH580-01 and ACQ580-01 types -02A6-4, -03A3-4, -04A0-4 and
-05A6-4.
: 2 vl - 2
(9611  —=re e S
0 |2 =)
= s
[76°] : 8
6]
i & S
v n o a
3
— = = = =T % <
— o> © o
o - <~ © —0 - — et =T T
s e - s 1 U ST o I |
- @,
2o E
TP
(®) HHHHHHHHH\HH .
0 [
12 RoE ©F e e
i S ) 8 : > |©
“ (661 || el 7
Gl ~l— ==
[00°€1]
oct
[£6°¢]
_ 001 =
Ll (5121 S
o g 8
[66']
o |
_ L 9 |
= 22 H rmm:- T E [}
! = (ks o Al ; = gl
1 ' T
[96°2] [e¢ 672 5]
5l el el
[16°¢]
98 [50L 8]
[£6°6] AT




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 153

Hood is needed for UL Type 12 drives only

%o
~
@
[se]
o
(8¢l 11 8
67¢T =

691 ] 8
676 3

]

iy
e
-




154 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R1
For ACS580-01, ACH580-01 and ACQ580-01 types -07A2-4, -09A4-4 and -12A6-4.

[Sr6° ]
7e %8
o
[s2]
o
o
o
o
.} ——a o o
s =\ a
\ o e 7#7 T ; ><
Ot == o= S
O ° . 747 L Of—
= = e
= |= .
B R weso%
e e 087 21] 072 1)
B 1€ 101
- [000 €17
o DS
O\~
=
S
e
oS e =
— L2l
= Sy =
= s =
|- o e
NEN= = f |
Slee 2= = |
(250 °2]
[858°¢) [166°2) [51€°93]1518°S] e
86 L cel— gel | [€€6 €]
6766
[128°6] [60L°81]

8yl [°GLY




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 155

Hood is needed for UL Type 12 drives only

%N
~
o
(€111 o
0 S
(817 3
0¢ g
<
[90]
Sl=
[11°¢]
61
(61717 ‘
o ‘
b I o] - 0@ J
n e i i 0
- r a 8 ) T
° <]
— — ] o o
<2 o7 et T
| | . ] ® o o b




156 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Attaching points and hole dimensions

For ACS580-01, ACH580-01 and ACQ580-01 types -02A6-4, -03A3-4,-04A0-4,
-05A6-4, -07A2-4, -09A4-4 and -12A6-4

[2.756]

10

|
|
\
|
T
|
|
|
[10.630]

[23.622]

210

[19.094]
600

485

0
3.1801 3AXD50000038098




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 157

Frame R2
For ACS580-01, ACH580-01 and ACQ580-01 types -017A-4 and -025A-4.

: %N
=2 P
I [s2]
o a a = a a —H‘i §
- 9 o e \ | T 8
o A= — = —|i=H e
= il b o e | ! L Q
h il ™ ;H‘i <
o o = o o m
(6]
. 0r__.
(27911 [22°v)
iF; 10|
[€6°91]
057
[06°02]
IS
&
N
Ne) g
-
=4
£ T
P Dt I li i U
s 12 s [5€°61]
2wl <o 06¢
— | Of— Of—
1661
707 o
ol s B aE
| | | L
1T ‘1‘?7
L < /(-
e pE— — 4 -iH- - — -
v L =
] T
(66 \
S [51°2]
[LL1] 0L
: 7
[r6°¢] :
o (662 (20 v1lreLvilies v) %
¢l 0 oel . odl
[r2 2]

696




158 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Hood is needed for UL Type 12 drives only

(6]
0¢
® ® ® ®
%6 o ¢
T (] @
(=]
= g <
o 103 - -1 e
g = o~
-~ &
3 ® ®
o O O o
(] o) o) el ©
[6€° 11
G¢
-
&
©l”
~=
[ () [ - I—— (2] (] T
o )
— — [e] o I I °
= =
-2 o Hte-t—-——-———-—- -HEE
Sl Sl
i e o o | 1 °
hd )

3AXD50000038175




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 159

Attaching points and hole dimensions

120
(4721
|
— I
P [ _
| I §§
+ |+
- *
|
\
| ~
| oﬁ
\ ™=
|
|
# | |
|
| 21
|
—+ »
| _
| oy
| S
| N
|
|
|
‘ o
L ‘ ) =
| e
| <=
\:5‘
|14
(4 49]
191
[1.53]
320
[12.60]

3AXD50000038111




160 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R3
For ACS580-01, ACH580-01 and ACQ580-01 types -032A-4, -038A-4 and -045A-4.
=~ %w
-7 po
= 2]
o
o
‘ Y r-y =3 r-y r-y ‘ 8
4 o
= - -
-z =1 . o o | ° i é
R [ A S| 2
o~ ol ol - h e e ™
e i e ° 3
I [
. [126°]
[576°] A
7 [129°81] ree
. €Ly (896 ¢
L ;% [£6€ 61] 8001
5726v
(G601 1] (295 7]
575y [116°22] 800
285
Y
E  — e
s A el [810°11] - 5
04 PR =
= (89261 S~ gl
& 797
S = -
[£92°6) = =
o (gee pal Sle
| |
= T4+71.
5 —
@ - T R
2 SRS e A IR S (= 1B
. @ S Wik =
) DS SRS
[£9¢°9]
CHEN (6951 \
[£9¢°9] o (697 2]
(041" 1] %5
CHET 1
(162 (2168111215 ST 171c <)
Gl Wi o
IR

¥ 7629




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 161

Hood is needed for UL Type 12 drives only

(8811 %

T e ®
S I
S . e &
=L Uls, .
[LVZ‘% ‘
= Jg | | J
O = i
= MR »
T e e ]
i - - __"e 0 of 3 |




162 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Attaching points and hole dimensions

125 120
[4.921] [4.724]

[.394]

.3
[3.594]
[3.346]

|
|
\
|
\
|
\
|
|
|
|
|
|
\
|
i
140
[5.5121
120
(165351

[31.496]

[22.913]
800

582

3AXD50000038117




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 163

Frame R1

For ACS580-01, ACH580-01 and ACQ580-01 types -02A7-4, -03A4-4, -04A1-4,
-05A7-4, -07A3-4, -09A5-4 and -12A7-4.

[6€ 1]
0l e
—a .3 [ap]
[T o 5
- o
o o %’\ o
e o o J b —|- 3
0
L- 2 = L- 2 O
>
<
[6€°1] R
0l
L9y °¢1] [€¢°¢]
Lle LS
[yl €1l
[2%%

-
— =5
© Vel
|, [T -
(26} [25 ]
o |e |= 8 2
o ~ o>
Sl == o [66°] [6G6°1
—l= Pl T Gl Gl
[10°¢]
Ll S
o 1650 | ~=
_|= Gl ‘ N2
B
. || oL '
S 7 (& - = =
“© - > Ll
] e
= —
[65€ 1] ‘ ‘
L0 LIy 2] [L2e 51 |fee 5] | |.[08"]
[9V2° 9] 9 e oeT .oz
178G [86 1]
61 °8l] 0




164 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Hood is needed for UL Type 12 drives only

¢l 1]
2
[8L°1]
0¢
[Ie]
6L
[6L1] )
Gy ‘
= s\ /Q
Lfe] I i B
|

3AXD50000038172




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 165

Attaching points and hole dimensions

10

120
[4.724]
|
T
= |
= |
o |
Q + o4
|
|
—0— |
|
I
|
\
4 | i
|
|
|
|
| . ~
| s = K=
| —— =¥l
| I o
|
|
|
|
|
- |
|
|
|
|
|
|
T
—0— |
|
|
|
\:4‘
14
[4.488]
91,2
[1.528]
350
[13.780] 3AXD50000038098




166 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R2
For ACS580-01, ACH580-01 and ACQ580-01 types -018A-4 and -026A-4.

B —— 5
™
- - _ . o
- — 7 -
. oa t %
: [m]
.| o o o L 2
- "3 o o <
[9p]
[07°91] (661
Ly 7]
(L0 L1] (0177
cev <
[06°02]
1¢G
o —
«© &
s =
—|— @/
SE 2 .
. AR j
= 2 = [16°61]
= 76
e [90°91]
807
= 3 2 31 5o
|1 | | L
IF e anl
D" 4
[4)
‘{L.lfl 77
(6] |
51 [080%
LI7°2] 2l pltel pllrel vl (196" 1
19 0eT 021 0Z 0%
[10°€]
Il
[69°12]




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 167

b

Hood is needed for UL Type 12 drives only

3AXD50000038175

[4.95]

126

4 -l Y S i I

[6.87]

160
[6.30]

174




168 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Attaching points and hole dimensions

120
4721
\
— I
&R [ _
| e §§
.
=
|
\
| ~
| oﬁ
\ S
|
|
# | |
|
| =
|
o »
| _
| [N
| S
| S
|
|
|
‘ ©
‘ J 2l
| e
| @)=
\:5‘
14
(4 197
191
[7.53]
20
[12. 601

3AXD50000038111




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 169

Frame R3
For ACS580-01, ACH580-01 and ACQ580-01 types -033A-4, -039A-4 and -046A-4.

i
x

T
|
_ B — ° ol H ° r %g
£ o 27 o H =
= - = lag ! S
— b o o o I S
) — 2
(7] [61°] 3
7l 5l B
(02 €] (29811 Lig 2]
8 €Ly 6
17611
€67
[16°22]
286

[4.65]

(A

21
‘ [1.06]
9
?\\\‘5‘5\

©

# i i —

- = _ ) A
IR (2001
e R i 43
(12811
797

[07 6] S Sl

Sl <=

[11.42]
[10.59]
[10.35]

fo) o o
@@ J= <
: 165
(5591

59 5

(g7°2]

€3

(51°¢]

08




170 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Hood is needed for UL Type 12 drives only

(8811
a7
(81" 1]
0¢
(521
3
=
j o © ® ® 5] )
®
< =) <
o~ g ’

- — - it — € -—o 1o
Sl= 2 . °
J . o

=l o
.5—10 ® ® ® el ©
[8¢°¢]

99
(L]

— Q e Q ) P

-3
= -
o ~—

: - , b

>l oo
o|l— —|—
SE <=

<

) o L ) o 1

3AXD50000038176




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 171

Attaching points and hole dimensions

125 120
[4.921] [4.724]

[.394]

3
[3.594]
[3.346]

|
|
|
|
\
|
\
|
|
\
|
|
|
|
|
i
140
[5.512]
120
(165351

[31.496]

[22.913]
800

[14.567]
3AXD50000038117




172 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R4
[90°62]
= = 159
= —|— 74;‘ a T A A .} 1
i ° e o [T
e )
i ' ' -
3 e 4&‘,
£
[66°] [LS 7]
72 619
[r8 11 .
T [89°82]
8l
.
N | il
= S (16 12
B = S
== —l= [87°¢2]
165
(70 y2]
19
(L 1]
v
3
5l
= =0\ = 1 - |
= RN A =
I D S 5, > =
\ \ \ \ =
(5621 !ug'sj\ug'g]\ug'gj‘ugml |
Gl T T o
(575 05]

6 GLL

3AXD50000038122



Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 173

b

Hood is needed for UL Type 12 drives only

(<]
~
[02°¢1 X
9¢ S
o
o
o
[$2°1] ]
¢ 9
<
= %)
O%‘ % ® ® ® e[ @
— | € e
n <
T d8 1 5 fee——t——f L — - -— e -
78 -] N
— °°t (] ® ) .oo
N
Slv 121 |
- 9
gy ¢l
88
(861 )
Gl ‘
. \ /
“L.E = & £
|l Ml
_ . o eﬂ ° ° o
2 -
o) — ~le T - e — R
Q= ] ‘ ' '
o B 0O 9
!J \"J A4 O T L2 A" J




174 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R5
= 7‘77n a & ry a T
i THTT
a3y N
- W
z 2
© | 69771 [L8 ¢Z]
Q= T 89 186
[r6'1] [20°6¢]
vl L€l
.
AV %
W[ ] R
| |
[16°1¢]
- = |z 1SS
5 | e :
S N
(7071
119
[19 7]
129
[LL 1]
Sy
[66°1 |,
Gl =
— | ] = |eo
ps D —to [y - — - —|- —-— | . i
—olo g ¥
[66¢] ‘[LQ@]‘[LQ'Q]‘[LQ 9]‘[[9'9]‘
- G/ I A
[66°0¢]

3AXD50000038123

[8.07]




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 175

b

Hood is needed for UL Type 12 drives only

o
©
[0¢°¢] Q
5% 3
6211 S
¢ I
a
ﬁ?oi ) @ ] Ooo é
@ ® o
= <
P 1 e _——— ] - -—e
— 7n ®
2 «j&os ® ® ] s°°
(621
9
[08 €1
96
1681 )
[ ‘
2
N o 1)
0 (@ 1L 1T 1T el 1
“mm g
< - °
o —
> . S _ | 1lp
P I it
oo P o
P
LA \"J O T L-J L




176 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frames R4...R5
Attaching points and hole dimensions

125 12
[4.921] L4

[1.232]
19841

25

i

[5.575]

[5.575]

870
[34.252]

[5.575]

[5.575]

o
co|—
oS|en
O

©

~
©
<
©
~
©
~

o~

>

ol

oley

| ©

—

[6.764]

()
192
[7.559]
269
[10.5911]
370

, L14.567]

3AXD50000038121




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 177

Frame R6

224
224
N
o
. o
© e
. o
_ 0
— [m]
- X
S 159 06 (o l]  [isl, 6911 <
IS Syl a8 o7l ]
Tz =
S= 7= —
(90717 L2 (86771 o2
NNANIE
(6677 Gl
81711 0f
[€07127 296 ‘
_t o——o - —o—-—of[e
! = ol
EEEEEE 0 =
e i i [ (T ER=\ s |o =
NI il 111 5 S i CHS
o~ =Y 4 f=1
-~ - U= ‘ =Sl =
| — ~[ on| co o~ o~ %
32 F33 H
— o —-———o|&
[91°2]
ol el 19791 | 119791 | [19°9) (el ¢l
) 78 891 991 89| 69
0| (97921 219




178 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Hood is needed for UL Type 12 drives only

(96 ¢1 101
- (7€ 96
A= ‘ [ST°¢T 08
: - % |o ° ° o[ o
— g — f —
W -3 E¢
AT iz R
Q= k :
i z@,
( —
[:] 3 (3 () 3 (]
(26797 97591
CIRSRED
F o eT e
[
-l © o
I [T
-] o =1 (-] -]
— — o| [O @ @ :E °
= = : .
I :
3 P o o
o~ o~ ) O e :Es o
o o ) o

3AXD50000021919



Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 179

Attaching points and hole dimensions

595

22

89 70 50 @8
_ (3507 [T2. 767 1971 (321
N | 3 pes
- L @91 _
4 (361
1 —
#‘ :
r |
100 1 100
%»- [3.947 | 15.94] —%%
49 . b
(1937 | NE
! _
| Qe
1 —_——
|
1
+ | %
1
|
— 1 —
b | ol
< 298 ! Sl
TIRE
1
+ | _+
]
|
I —
| o
. 334 . &l
‘ [13 750 ‘
]
T
]
|
T :
— ] O
— | =
|
i
49 200
(193] (7.87]

3AXD50000019323




180 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R7

o
N
[e)]
% E
o
o
o
o
o
0
fa)
P
L1917 [1L6] (57 6] (LS, [191] ™
Iy rl 0re Syl Iy
S| | =
S ol = <
T §§ '
5 ISR
2le = ©
©: —— K& _
(907171 12 (861 ¢¢ 3
(71921 799 ©
‘ o
S
T =
< 7 =l5s NL 53
=EEIREE diHos =
< ~ @@N E977 ~ [¥=3
2l g gl Bl <=
€
(90721 0L (28 L] | feel] | [2¢°1] [v9 2]
(€2 ¢l ¢8 98] 981 981 L9
(2L y1 02l

Ley 8¢] ¢iL




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 181

Hood is needed for UL Type 12 drives only

[(86€1 10] % 8
D
vl €1 6 S
o IBEEE 3
o ® |o o o o| o 8
: I i) ® O '8
o ‘ g Z:
= ° 0 ©
<[® 11— < Bl
b ° wo
= g
. -3 101
; o o o o o o
87 91 9791
(28 51 Sel
FTreseT 2 T6
=
ol o °
== = 5
L] [ ] [ ] L]
e O
1Y LT
° ° ° 1 o ° °
I e .- .0 o 3
3 > ° ° o
N e - o o
- - ol - . °
° o o [} o °




182 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Attaching points and hole dimensions

103

12 52 &
8
[4.06] [12.83] [2.05] [ 321
) 3 pes
[ @9, 1
i / 7 36
- |
ol | <
! =
@ e |
|
|
¢ | RI0 &
| [.39]
I
|
| Sl
| s
|
I
& | &
I
|
I
iy <=
Pr=y | -~
I
I
& | &
I
I
330 | ~
[12.997 | o™
' <=
. 366 l
(|
1
|
4 | & —
= | =
I X e
|
39 84 84 84 5
[1.54] [3.311 (3311 (3.3 :

3AXD50000019324




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R8

N
(o))
N
o
o
— o
) o
— [G¢'¥] [1L°6] [ov L1 [1L°6] (6271 %
2= 801 Gl 981 N2 801 Q
© <
%)
i R
— . o ~
R
<=
2l 11 G'8e 80 11 s L2 |
[€67°641 0GL
[9¢°11 ¢¢
[81°11 0¢
[6L°1 0¢ ‘
[€6°9¢1 789
- s — - — % —— % ry
;  —
—| = O|—=|—| —| g% . —
| = OO | —
SN N =R = .|
SEECCEEN T A
o~ ~ ! w
N ool of || | ] =
R 2| KSR K N ~
T T DK /
. ; ==
=.‘='1?= o — - — - — — — — & hd
orer o (0191 1 119791 [19°9] (19797 [Lv8'¥]
[ZL'7] 0Z1 GGl 891 891 891 €1
[G0° €1 vI8

183




184 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Hood is needed for UL Type 12 drives only

[€e vy 01l
[60° 71 70l
[€8°¢1 ¢l
= o ° ) ° ° °
£ e =
- ° 30
i ¥
— * A4 Eo
(?7) —
= ° [ o ) o °
[07 91 97291
[y¢ 61 €€l
[0G°€] 6788
=
0| o °
s :
° ° ° i ° ° °
D o ° ° o
g . d o® . o
o o 41 ° ’ T
o 2 .
37 9 oo o
O ° ° o
° ° ° . ° ° °

3AXD50000021921




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 185

Attaching points and hole dimensions

@8 93 90 10
[.32] [3.661 | [3.541 |[2.76]
\ B9, |
—o— [.36]
—o— —o— 1
13 100 100
12,877 [3.941 ' [3.94]
*** RIO Jf
[.39]
4 Pcs —_
Qe
+ J«
T
e 2l
== . 400 ==
15,751
=
+ l
T
346 -
[13.62] o
—o—
13 200
[2.871 [7.871

3AXD50000019325




186 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Frame R9

[9v 8] [69°9] [9v 8]

Sl¢ 0Ll Sl¢

Ze [
<
S
09011 IC 861 5¢
(L€ 621 97l
081 11 08
0651 Gl ‘
[€6°921 789 ‘
m% oo ——— o  — o — o "o
o N ol
bt o
1 | T \ IEQT
SEEEEER! -
> Rk e % o e
S e B S
s \ |
| / A
A H
} @ ® —_—% - — - — 9% — - —-9°{-9
ervl ogr L9719
o TH [51°¢) [re 91 | tve 91 | [ve 91 | [re° 9] 2523
(6997 0L 08 191 KL 9] 191 79

[G971€] ¥O08

3AXD50000021922




Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01 187

Hood is needed for UL Type 12 drives only

N
9797 791 % S
(2291 861 §
‘ [65°51 271 8
— o |o o o— ——-——o0——-—-—0| e %
2 . \ Ko ° g
S | E° g
. . 8
R R =0 S
. ° &
= R g
<o L
@ |[0—— 0 — —0 ° ol o
7061 1622
08 17 861
| (66757 27251
=
Ou le)
[ ] [ ]
[ ] [ ] [ ] o
@) O
I [IRIGIERIE
- °o o ° o i~ ° o o
N EEE e . > o
o |o
g = o |,
e ° . E
o . © . X
e g ° H
= . :
o e . . oF
s ° =K G -




188 Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01

Attaching points and hole dimensions

121

21

@8 12,5 110 90
[.32] [4.43] [4.33] | [3.54]
3 Pcs
\ ——
@9,1
< [.36]
RIO
[.39] =
2|+ +
. 462 P
118,191 e
425 T
+ 16,731
—o— —— —4 -
= 2=
.5 102 132 102
[1.75] [4.02] [5.20] [4.02]

3AXD50000019326




Dimension drawings for ACS880-11 and ACS880-31 189

Dimension drawings for
ACS880-11 and ACS880-31

Contents of this chapter

This chapter contains the dimension drawings of the flange mounting kits and
required openings in the mounting plate.




190 Dimension drawings for ACS880-11 and ACS880-31

Frame R3

[8.191

208
228

[8.96]

(61781 €d¢

[r9°61 Gv¢

[y87011

Sle

-
[e 0]
w16l 8
. & ° . S
B °
- S
o I ) e o -, S
(=]
o — O
| - R [m]
i ° = x
© [} g
1§ ) e e/
° © © 7 @77
[1°911 ‘
Gy '
[G7611 Sov
5=
iSY
[9871¢1 659 1717 8¢
- 2
o 3 -
ol = . B % ’é
N < |
[€C7611 687
496 119.521
[gr-11 0¢
16971 6791
[€9°1 91 [er11 of
€G7611 967 [69°1 LI

‘ T

323 [12.72]

L2l

279 [10.991

283

' [60°61 1€

(60761 1€¢

felvel €19

19s7¢1

69




Dimension drawings for ACS880-11 and ACS880-31 191

Attaching points and hole dimensions

125 120
[4.921] [4.724]

[.394]

3
[3.594]
[3.346]

|
|
|
|
\
|
\
|
|
\
|
|
|
|
|
i
140
[5.512]
120
(165351

[31.496]

[22.913]
800

3AXD50000038117




192 Dimension drawings for ACS880-11 and ACS880-31

Frame R6

‘252 [9.92] ‘

267 [10.52]

[ro7¢1 8L
[c1'61 o€l

[14.72]

374

N~
o
o
<
S
sl S
TV 111 6 08¢ [09211 02¢ %6 O
S
- S
¢ % 8
| 3%
= <
@ )
i i i T
L J
1677 €2 1967621 191 767 12
07 181 961
18111
0%
[2?9% T8I 17 0%
[699"1 196 8¢1 9¢1
(-] (-] -] -]
sl
N [ B
= I g A
25 g5
e IR PN
O o — 7 — W °r <
ol o = S
BIRSIRURS
[ L] (] (] i
1€6°21 166791 | [€6°91 | [€6°91 | [€6°91 182°2)
7 5L 911 911 51 (S

[y eel <68




Dimension drawings for ACS880-11 and ACS880-31 193

Hood is needed for UL Type 12 drives only

N~
o
S
<
<
o
S
_————— 2
r 18
. 0
. | e Y —e o o] \Q
=N T I
= =2 of ic ‘
o o ° [
S~ o, .o . %, . - il |
9 F !
I . © LAz ° ot |
Lo
@) @)
— T 10 e ] ] T ° T
e | )
©
- GJ
A ™~
IS¢ 6L
871 vel
71797 SS1
7O 011 G52 16Sdl 086XDV €671 001
26761 262 1SSdI 088XV 69T 76

€8°L]1 661 -12d1/02d1 08GXIV S _
€7 L1 681 ~12d1/04d1 088XV Lo1€] 6L

120 [4.721]




194 Dimension drawings for ACS880-11 and ACS880-31

Attaching points and hole dimensions

89 70 50 @8
B 13500 (12767 01971 [ 370
N | 3 pes
- 0L B9.1
i 367
1 —
‘4% :
" i
100 . 100
%»- [3.947 | [3.94] _%k
19 . A
(1937 | NG
! _
| e
1 —_——
|
1
4ok
1
|
— | —
ol | ool
Sl 298 ! Elo
RE
1
+ | |
i |
I —
| =
. 334 . Sl
‘ IERE ‘
]
Hooo
]
|
T :
— ] O
SI= | ==
|
i
49 200
(193] (7871

3AXD50000019323




Dimension drawings for ACS880-11 and ACS880-31 195

Frame R8

o
-
b
s
3
S
1821
- S
T187071 8¢01 A=
S
0
[a]
J 3
s = <
2 B %)
wl— Qo
2=
¥ ¥ ¥ ¥
o R ol
1211 180°1]
TS
[£0°¢1 oL
LL 197°8) 176 9] 19€°2)
20711 9%¢ gIe %) 09
799 661 286
9017 @8
8117 0%
78T T2 8117 0%
TG0 9¢T $ 996
-
\ |
[ R o
e e
Sie Sl %
gy
~| =| 5| | N e
Vi |
b b
< - - 19021 0L
N | 1£0°8) | 118791 | (18791 (18791 | 118791 | 118°9]
3 2071 020 502 el <L Tl Tl ]

[6€°Evl 011




196 Dimension drawings for ACS880-11 and ACS880-31

Hood is needed for UL Type 12 drives only

3AXD50000044110

T
‘ ; ° ° o 0 0
[
! e
— - ‘ q.|*
22 ‘
e —_———
: ql
2 2 | :
™ o N qle,
Il 2 =
| =
: : ° ° v ° °
- - ]
@)
'To‘T T e @ To T e
> o o o
2 =
2 o
I~
M EDEED
196771 921
112791 851
1197017 112 :55d] 085XV TeC vl 011
1197011 112 :56dI 088XD¥ -
166790 212 12d1/02d] 095X0¥ [GO‘V] vl
l 190787 502 112d1702d1 088XV 1eg el el
; I
| . . : : : :

700100
0©
160 [6.301

S S I

| o

[0g'8l 'eee




Dimension drawings for ACS880-11 and ACS880-31 197

Attaching points and hole dimensions

8 93 90 10
[ 321 [3.661 (3,547 [2.76]
\ B9, |
e [.36]
—&— —— R
13 100 100
12,877 13.941 " [3.94]
% RIO Jf
[.39]
4 Pcs .
<o
+ :
$
e ol @
== . 400 ==
[15.75]
=2
- :
T
346 =
(13.62] ==
——
13 200
[2.87] (7.87]

3AXD50000019325




198 Dimension drawings for ACS880-11 and ACS880-31




Dimension drawings for ACH580-31 and ACQ580-31 199

10

Dimension drawings for
ACH580-31 and ACQ580-31

Contents of this chapter

This chapter contains the dimension drawings of the flange mounting kits and
required openings in the mounting plate.

Note! Some dimension drawings display the face of the ACH580-31 model instead of
the ACQ580-31 model and vice versa. The dimensions are still applicable for both
models.




200 Dimension drawings for ACH580-31 and ACQ580-31

Frame R3
2
ry o = o o |
T *ﬁ‘*
2R LA S|
o~ — He | ) ) |
‘ L"J L") =7 L-J L) ]‘ .
[Sv6 ] [‘§§€§
72 [129°81]
_ K [896°¢]
[Liv 1]
5 [£6€ 61 8001
97267
[S6L 1] [29¢ 1]
975y [116°22] 8001
285
.
.
Y
)
L
\ [ 1= 1 Y 1= =%
10 10
e A (81L°L1] - 2
06y ol 2|®
= [892°81] =l S
N 97
Slos -
it oz
[£92°6] ==
€75el ==
| | |
B Rallllis
0@ =g [ i = = s =
1 P I b —- o
7 T T \ \
[£9¢°9]
97791 (686" 1,|
[£9¢°9] S (697 2]
9791 041 1] 729
Sy
[166°2] (216761121661 [71¢¢
] v ovl o
[8LL°12]

77629

205

[8.071]

3AXD50000038118




Dimension drawings for ACH580-31 and ACQ580-31 201

Attaching points and hole dimensions

125 120
[4.921] [4.724]

[.394]

3
[3.594]
[3.346]

|
|
|
|
\
|
\
|
|
\
|
|
|
|
|
i
140
[5.512]
120
(165351

[31.496]

[22.913]
800

3AXD50000038117




202 Dimension drawings for ACH580-31 and ACQ580-31

Frame R6

~
S
S
=)
3
wsel 8
T70TTTT $7087 ] [09°21T 0% © S
S
o O
' °8
= | o %
o -
~|— ﬁw [sp]
T ) ) U U
[©)
(1677 €2 (557627 151 671 72
[o7 TET 961
(8111
o
il (81717 0%
Les ) (967827 o€l
-] (-] (-] (-] (-]
<!
I R .
3 3734
SRR
<| o =] 3| <
! e R — - — 1T <
U s s
| | & ea]
(] (] (] (] [ !
fLoel & [£6°21 (26791 | [66°91 | 166791 | [£6°9] [82°21
HRIRE T I I 9l 9l s

[vG €€l 268




Dimension drawings for ACH580-31 and ACQ580-31

Hood is needed for UL Type 12 drives only

[FO"011 66¢ *6GdI 085XV
[26°6] ¢GC 6GdI 088XIY

. [€8°L] 661 -12d1/02d] 085XIY
[Er L1 681 “12d1/0d1 088XDV

[4.721

120

]
| -_@ ) ~ o e - \
- o kL
)° ° o °
o - ol ° . P9l |
g =
I o :
= = ‘ o e ‘
o o ° . o
g g | ok, .o .2 - o ol|°| }
I - ® L LAS o - ‘
- - - ]
(@ @)
—l N U e U L) ® L
=
= AGJ
~ ™~
[€1°€] 6L
[Lgvl ve
(2191 ¢¢
[€6°¢1 00
[69°¢1 v6
[or-el oL

203

3AXD50000044007




204 Dimension drawings for ACH580-31 and ACQ580-31

Attaching points and hole dimensions

89 70 50 @8
B 13500 12,767 1971 [ 370
N | 3 pes
) e 291
i 367
] —_—
‘4% g
" i
100 1 100
{;— [3.947 | 13.94] I
49 | o
(193] | N
' -
| Qe
1 —_——
|
1
T
1
. | _
ol | ol
e 298 . Z=
INE
1
{»— | _+
1
|
I —
| =
. 334 2le
‘ [13.750
1
4+ |
1
|
- =
— ] @
Sl= | ==
|
i
19 200
(193] [7.871

3AXD50000019323




Dimension drawings for ACH580-31 and ACQ580-31 205

Frame R8

o
e
h
b
3
o
S
S
S
S
T18°077 8601 0
[a]
x
<
%)
2 |=
=
i ¥ ¥ i
] N L O
el 1l 180 11
58 [£0°¢1 sl
L 197 8] 1768 19521
20717 95¢ SIe X4 09
7997867 286
9217 &
8117 0%
79T 12 8111 0%
TG0 887 6996
0 0 0 0
™
\
el Rl I ¢
S
I3 23 = 8 < ——
g3
25 39 | o
VA
N
< NI
N 10081 |, 118791 |, (18791 [18°91 | 11891 ] (189
@ 02 £l 3] £l ¢Ll ]

[6€°€rl ¢oll




206 Dimension drawings for ACH580-31 and ACQ580-31

Hood is needed for UL Type 12 drives only

@

hfi*f*fi*f'f'fffﬂ

; — -

T s sl

s g | ; il
32 e Aol
o o g I
A= ‘, Jb I
] = —— n"i

Lo ]

(@] @
- TT ° it iis s iy i A =
= . N .
3 o 0
[LO°ET 8L
19677 921
[1¢791 8¢l
[L9°01T 1L *GSd1 08GXIY [ee vl 0l
[L9°01T 1L *GSd1 088XIV .
‘ . [6€°8] 212 "12d1/02d1 08GXIY [0 _V] 7ol
[ [90°81 G0¢ “1¢dI/02d1 088XV [eg ¢l ¢l
y nrtrT """ ~""~>"~""/"/7///
. : : : : : al

700:00°
Q
160 16,301
S
.
Ts
ek Ace
N <’7 —

q e ]

[08°81 G7€dd

3AXD50000044110




Dimension drawings for ACH580-31 and ACQ580-31 207

Attaching points and hole dimensions

B3 93 90 70
[.32] [3.661 | [3.541 |(2.76]
\ @9, |
—o— [.36]
—— —— R
13 100 100
12,877 [3.941 ' [3.94]
*** RIO +
[.39]
4 Pcs —
2l
+ l
T
e =l
== . 400 ==
15,751
=l
+ i
T
346 <
[13.62] o
—o—
13 200
[2.871 [7.871

3AXD50000019325




208 Dimension drawings for ACH580-31 and ACQ580-31




ACS880-01 mounting examples 209

ACS880-01 mounting
examples

Contents of this chapter

This chapter contains ACS880-01 flange mounting examples in a cooling channel.




210 ACS880-01 mounting examples

Frame R1




1818

816

aily

ACS880-01 mounting examples 211

= |

A-A (1:5)




212 ACS880-01 mounting examples

200
30
8 5|2 w | || oo
8 5|3 1
. b

152

385
97‘497:4@ \

<

~O

~

1 )

|

s=2mm
380

30
8 2

30

SECTIONA-A SCALET : 5




ACS880-01 mounting examples 213

Frame R2




214 ACS880-01 mounting examples

816

1818

T
it




ACS880-01 mounting examples 215

200
| %

3 ;E? ¥ 140 y \/

— T

X 850 ! T o

e

S

>
o

EM

1764

e ; \ f

380

30

188
158

30

SECTIONA-A SCALET : 5




216 ACS880-01 mounting examples

Frame R3




816

ACS880-01 mounting examples 217

1818

A-A (1:5)




218 ACS880-01 mounting examples

1764

200
I
— o &

—! L
Ssl] I
© i i

g |
™
~
g || %
'cg i o
EIRE
2
oo}

5=2

mm

400

09 %10

30,

188

158

30

SECTIONA-A SCALET : 5




ACS880-01 mounting examples 219

Frame R4




220 ACS880-01 mounting examples

816

1818

A-A (1:5)




ACS880-01 mounting examples 221

240
I
3 29 13 4
3 gl 182 | 09*=
- — o N

of| 1L

156

545

156
H—+A—+—H \

1764

s=2mm | \ f

420

30

173
143

30

SECTIONA-A SCALET : 5




222 ACS880-01 mounting examples

Frame R5




1818

816

ACS880-01 mounting examples 223

A-A (1:5)




224 ACS880-01 mounting examples

208

250
93 |
) 93
h 35 =
Q 19
w0
«Q ! |
2 ‘ %
o |
< | |
0 % %
I
< - —0
0 591 | ‘
- 191
1 B
s=2mm
500
30
[ee]
N
3 T J

SECTIONA-A SCALET : 5




ACS880-01 mounting examples 225

Frame R6




226 ACS880-01 mounting examples

1818

A-A (1:5)




ACS880-01 mounting examples 227

290

1764

45 13
200 | 09 \/

165
35
34
|

168

569
168

168

— | \/

500

30

191
161

30

SECTIONA-A SCALET : 5




228 ACS880-01 mounting examples

Frame R7




812

ACS880-01 mounting examples 229

1818

ni}

—

A-A (1:5)




230 ACS880-01 mounting examples

ga2®

3 84
B *L&) 3—9 o— - —o— - —o=*
N
4" |
®
g }
0_0 |
¢ })
g
Rel
el I I
*
e |
N
< F——-—0
R
1 r
|
s=2mm
466
30
8 s
3l [ J

SECTIONA-A SCALET : 5




ACS880-01 mounting examples 231

Frame R8




232 ACS880-01 mounting examples

1818

A-A (1:5)




ACS880-01 mounting examples 233

207

330
R 65 1
3 200, | @9r—
—L‘//
-
3 ‘
. I
3 ‘ | |
83 ‘ %
,\ %
© i |
s J | N R
I S©
3 ] ¢
~
A‘ A
|
s=2mm
540
30,
~N
~
S 1 J

SECTIONA-A SCALET : 5




234 ACS880-01 mounting examples

Frame R9




816

ACS880-01 mounting examples 235

1818

ni}

-

1V — /177 1] Y\ \\ W— i/ /1

m; A A | NS\ ?m
T | == —] —— - —| 7
S )( |~

|

A-A (1:5)




236 ACS880-01 mounting examples

230

400
\
- _ 102 . P9 x\8
O Q> 32
P oo
S 3
) ]
wn |
o
~N
)
o I
© = |
3 J 3
~ 0—*4@7'*407740
A; A
|
s=3mm
560
30
5 |
o
N
3 I J

SECTIONA-A SCALET : 5




Further information

Product and service inquiries

Address any inquiries about the product to your local ABB representative, quoting
the type designation and serial number of the unit in question. A listing of ABB sales,
support and service contacts can be found by navigating to
www.abb.com/searchchannels.

Product training
For information on ABB product training, navigate to new.abb.com/service/training.

Providing feedback on ABB Drives manuals

Your comments on our manuals are welcome. Navigate to
new.abb.com/drives/manuals-feedback-form.

Document library on the Internet

You can find manuals and other product documents in PDF format on the Internet at
www.abb.com/drives/documents.



http://www.abb.com/searchchannels
http://new.abb.com/service/training
http://new.abb.com/drives/manuals-feedback-form
http://www.abb.com/drives/documents

Contact us

www.abb.com/drives
www.abb.com/drivespartners

3AXD50000019100 Rev E (EN) 2018-02-02

Power and productivity "“ == ==

for a better world™




	List of related manuals
	Introduction to the supplement
	Contents of this chapter
	Applicability
	Safety instructions
	Target audience
	Purpose of the supplement
	Contents of the manual
	Related documents

	Hardware description
	Contents of this chapter
	Product overview
	Layout and mounting position
	Example: tilted position
	Example: upright position

	Degree of protection
	ACS880-01, ACS580-01, ACSH580-01 and ACQ580-01
	ACS880-11, ACS880-31, ACH580-31 and ACX580-31
	Special requirements

	Ordering codes

	Mechanical installation for ACS880-01
	Contents of this chapter
	Safety
	Examining the installation site
	Additional requirements for cabinet installations
	Necessary tools
	Moving the drive
	Unpacking and examining the delivery
	Transport package contents
	Frames R1 to R5
	Frames R6 to R9

	Flange mounting kit package contents
	Frames R1 to R3
	Frames R4 to R5
	Frames R6 to R9

	Mounting template

	Installing the drive
	Free space requirements
	Installing drives above one another

	Installation procedure
	Frames R1 to R3
	Frames R4 to R5
	Frames R6 to R9


	Mechanical installation for ACS580-01, ACH580-01 and ACQ580-01
	Contents of this chapter
	Safety
	Examining the installation site
	Additional requirements for cabinet installations
	Necessary tools
	Moving the drive
	Unpacking and examining the delivery
	Transport package contents
	Frames R0 to R4
	Frames R5
	Frames R6 to R9

	Flange mounting kit package contents
	Frames R0 to R4
	Frame R5
	Frames R6 to R9
	Mounting template


	Installing the drive
	Free space requirements
	Installing drives above one another

	Installation procedure
	Frames R0 to R5
	Frames R6 to R9


	Mechanical installation for ACS880-11 and ACS880-31
	Contents of this chapter
	Safety
	Examining the installation site
	Additional requirements for cabinet installations
	Necessary tools
	Moving the drive
	Unpacking and examining the delivery
	Transport package contents
	Frame R3
	Frames R6 and R8

	Flange mounting kit package contents
	Frame R3
	Frames R6 and R8
	Mounting template


	Installing the drive
	Free space requirements
	Installing drives above one another

	Installation procedure
	Frame R3
	Frames R6 and R8


	Mechanical installation for ACH580-31 and ACQ580-31
	Contents of this chapter
	Safety
	Examining the installation site
	Additional requirements for cabinet installations
	Necessary tools
	Moving the drive
	Unpacking and examining the delivery
	Transport package contents
	Frame R3
	Frames R6 and R8

	Flange mounting kit package contents
	Frame R3
	Frames R6 and R8

	Example mounting template

	Installing the drive
	Free space requirements
	Installing drives above one another

	Installation procedure
	Frame R3
	Frames R6 and R8


	Dimension drawings for ACS880-01
	Contents of this chapter
	Frame R1
	Attaching points and hole dimensions

	Frame R2
	Attaching points and hole dimensions

	Frame R3
	Attaching points and hole dimensions

	Frame R4
	Attaching points and hole dimensions

	Frame R5
	Attaching points and hole dimensions

	Frame R6
	Attaching points and hole dimensions

	Frame R7
	Attaching points and hole dimensions

	Frame R8
	Attaching points and hole dimensions

	Frame R9
	Attaching points and hole dimensions


	Dimension drawings for ACS580-01, ACH580-01 and ACQ580-01
	Contents of this chapter
	Frame R0
	Frame R1
	Attaching points and hole dimensions

	Frame R2
	Attaching points and hole dimensions

	Frame R3
	Attaching points and hole dimensions

	Frame R1
	Attaching points and hole dimensions

	Frame R2
	Attaching points and hole dimensions

	Frame R3
	Attaching points and hole dimensions

	Frame R4
	Frame R5
	Frames R4…R5
	Attaching points and hole dimensions

	Frame R6
	Attaching points and hole dimensions

	Frame R7
	Attaching points and hole dimensions

	Frame R8
	Attaching points and hole dimensions

	Frame R9
	Attaching points and hole dimensions


	Dimension drawings for ACS880-11 and ACS880-31
	Contents of this chapter
	Frame R3
	Attaching points and hole dimensions

	Frame R6
	Attaching points and hole dimensions

	Frame R8
	Attaching points and hole dimensions


	Dimension drawings for ACH580-31 and ACQ580-31
	Contents of this chapter
	Frame R3
	Attaching points and hole dimensions

	Frame R6
	Attaching points and hole dimensions

	Frame R8
	Attaching points and hole dimensions


	ACS880-01 mounting examples
	Contents of this chapter
	Frame R1
	Frame R2
	Frame R3
	Frame R4
	Frame R5
	Frame R6
	Frame R7
	Frame R8
	Frame R9
	Product and service inquiries
	Product training
	Providing feedback on ABB Drives manuals
	Document library on the Internet


